Total No. of Questions—5] [Total No. of Printed Pages—5
Seat
No. [5201]-1001
F.Y. B.A. EXAMINATION, 2017
COMPULSORY ENGLISH
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Text Prescribed : Visionary Gleam (Prose & Poetry)
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A) (@) How is Guru Nayak defeated twice by the
astrologer ?
(i1) What are the six pillars of self esteem according to Nathaniel
Branden ?
(B) (i) Discuss the major themes of the story ‘The Gift of the
Magi’.

(zz) Describe the character of Lachmi.
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2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

@A @

(i1)

B) @

(i1)

How does the poet express undying love for his beloved
in the poem ‘A Red Red Rose’ ?

Bring out the relevance of the poem, ‘Where the Mind
is Without Fear’ in the present context.

Comment on the use of similes in the poem ‘A Red,
Red Rose’.

How does ‘If You Call Me’ present the beloved’s deep

passion for her lover ?

3. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A) () To serve the nation, Nehru felt, we should ‘redeem our

(i1)

B) @)

(i1)
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pledge’. Elaborate.

What are the avenues for service open to the youth today
according to Karan Singh ?

How can education help in destroying the caste system,
according to Ambedkar ?

Write a note on the climax in the story ‘The Eyes are

not Here’.



Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A)

(B)

5. (A
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(1)

What is the central idea of the poem ‘Upon Westminster
Bridge’ ?

(ii) Why does the poet’s attitude to look at the old woman
change in the end ?

(i)  Explore the theme of desire and want in the poem ‘Success
is Counted Sweetest’ ?

(i1) Comment on the use of concrete imagery, subtle
irony and symbolism in the poem ‘An Old
Womarn’.

Attempt any four of the following : [8]

(i) Fill in the blanks in the sentence below, using verbs
in the simple present form :

John ................ (not know) that students ................. (get)
all the books on their subjects issued from the
library.

(ii) Fill in the blanks in the sentence below, using the

present progressive tense forms of the verbs in

brackets :
The two Pakistani openers ............ (go out) to start the
innings. The Indian fielders ........... (take up) their
positions.
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(B)
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(i) Fill in the blanks using the past tense forms of the verbs

in the brackets :
At school, James ........... (play) cricket while his brother

........... (keep) studying.

(iv) Fill in the blanks in the sentences below using the
appropriate form (singular or plural) of the verb
given in brackets. Use the verbs in the tenses
suggested :

Kalyani .............. (want : simple present) to go to Chennai
for her holiday, but her friends .......... (prefer : simple
present to go to Mumbai.

(v)  Correct the following sentence :

The leopards and the peacocks are found in
India.

(vi) Rewrite the following sentence in the tense suggested

in bracket :
She worked on the project for ten years.
(Change into present perfect progressive tense)

Attempt any two of the following : [8]

(i)  Akash runs into Suresh, a friend, at a supermarket. The

two men greet each other and exchange a few words
before taking leave. Write a dialogue based on this

situation.



(it) Mr. Samadhan Patil invites his colleagues to his son’s
engagement dinner. Write a dialogue based on this
situation.

(iii) Anita observes that her brother is disobeying their parents.
So she advices him to behave himself and obey the parents.

Write a dialogue between the two.
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Total No. of Questions—5+4] [Total No. of Printed Pages—8

Seat
No. [5201]-1002
F.Y. B.A. EXAMINATION, 2017
MARATHI
G-1 : 3Nk TS qrEHA
(TRiEA  31ATHeRN)

(2013 PATTERN)
UeEgEh c— (i) HgIe®
(i) wUdt faiEl wmen
(iii) EEIRe a SuAIfed TS
9@ : dF A THUT T : 80
oAl :— () §Wd YT diefau sTevas SR
(ii) SETReld 3k T YO IO SRifIan.

1. (31) Geiads! HIAR qrel YT Ge! 20 TG S fasl o [10]
(i) ‘T o= ™ &AW el AR 2’ A &Y T@ed RO ?
(i) ‘WUE faAEl wen’ W TURNE TRMER MEMd A wEe A
®E ?

({i5) ‘B9 AW FHAdA TAERE G wE 7

(jv) WMHEERT ‘TS ft' o S ¥ &1 ared ?

(v) Tew fagEamEn faarR HEH e ®E HUG T @
geq ?

(vi) ‘Ufedt FEes GHEM' HIUT WfgA BT ?

(vii) ‘OdHE UShRdl’ HElA AFehTal fHeEY g heUdMrIiial 3Ga¥
% ?
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(9) Wil SRl UTa Y=l Wodsh! 20 veed Sw feel @ [10]
(i) ‘T fodt, Sen, emEfam fuerl’ e @i Wed o® ?
(i) ‘¥ e’ W wfaden wd™ AW S ?

(iii) WYd SYfermd I A9 AGH RO HAACH el ?
(jv) Yeld TEH oTUeAl dEydd MU hal o ?
(v) ‘TN HE AGUIEE F hfadl wOTE SR ?

(vi) STEU HTD A= AU B Hfadl HIVAT HIAGURBIAIA
AR ?

(vii) TUSA U Hd JAMEYAUAl hY oMo ol e ?

2. WeidUehl SR BF YIAET Y& 50 I St folel [10]

¢ !

(i) 7wt A el I ‘HE A HfAdd IR B

(i) ‘TN TR WY Siodl WIS o9 fafeuran wel @@ we A=
FHfod= o .

(iii) holl UTd UIEHRT A=A hiddqd HEHEMRN SR fSigiesl hdl =
ELSII |

(jv) ®l & H BR =0 Ffodda aEd Ifaa e a0

3. (31) Welicish! HUERI TRl Y= 300 &M SW forer : [10]

(i) ‘THPR' A FHIAAA TS GUEAT FoRERET RAT HEA .

(ii)) ‘IdHFUSRE  AdHTIS HAH] @RI 9u
.
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(&)
4, (37)
()
5, (37)
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WAt DRI TRl W™ 300 &M IW forer [10]

() ‘TguEes’ A ‘Sad Aeelt A1 A hfadien UREd e
ol

(i) ‘WguEs’ wetd ‘Agy’ fawae wfad W TRT @A

WAt IRl WeRl W9I™ 150 V& SW foter : [5]

(i) HIU HIYCIAE Hed W H

(ii)) HEHH TASHAMT Idlger T8y T2 6.

@TcAteTdeh] hIUCATEl o g9l Ycdeh! 150 ¥eaid S ferel @ [15]

(1) JAAFIET T 3CRIEg W2 &

(i) Welocaaad 9= Soledl Yo aui=a faneai=a W@ THRY=T

JAAEYATES!  SaH TR A

({ii) STRRETN AT FHRHATEHNE  FTesqu  feTal.

(jv) TIRHEIH SHSTEIHRT d@ <09 il wld STHdd, TR
e R

(v) TEIFAUE Sedda Hed fave &

GreAleish! SR Ure = AUSt iR wes formt ¢ (5]
(i) Income Group

(ii) Registrar

(zi1) Urban

(iv) Translation

(v)  Incharge

(vi) Expect

(vii) Project

(viii) Ideal
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(9) Ecdush! ®UGE UrE IR YSAEIER Ys Hed el
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(i) hed HrEeH
(ii) AR
(iii) Hgraeined
(iv) gEEETo
(v) AR
(vi) AT
(vit) TEHT
(viii) AHAEA

[5]



[5201]-1002
G-1 : =Ndgiieh 9 SIS AITSt
(TiE STeTTHERH)

9@ @ dF A THUT T : 80

el :— (i) §d T Hiefou sevEs SR
(i) 3ISEherd 3w YA qul IO <Riferdr.

1. W] HIvEl @8l Y3l Yodd! S 20 vsSid fawl [20]
() fafau s wRmeE=n AE foen

(ii) dUAIcHe, 9y WUS w1 ?

(iii) THITH US| % ?

(jv) WYR TUS &E d FA

(v) HAfsaeieT= = wee fam

(vi) HeREAE &9 T @ ?

(vii) WU e WS wE ?

(viii) Teid w9 31 WAE aeRd STarT &Y
(31) @rfa fag =

(F) TUHhME SHAE A T
(ix) Wi faoael gds! SH-a e dar &
(37) Tt am=an

(9) el
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(x)

(xi)

Rd JeyEREl A §RH e STER &

(31) SIE=T YR

() A=t 9% A0

G heddid THARIU Hed AW Th R fasl

(1) A Ha FEld

(%) TS 9iEg BUR

(xii) Toomen A @mmelt a1 HMem Yo=s1 SUIaEel wuadrr Berdl T

qq <.

(xiii) Jald ¥ YPS wed fof@l

2. ()

()
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() T
(@) T

el IR Tehl UAH S AR 50 wearadd ferr @ [5]

(i) BA HhINAE Heed |

Gld fooedn A WRET WM & [5]
‘TR OO SAfue gy U Hed 9 o9d TR A ad
Td GOR @A RN ML T 99 HA9Ad ¥ WR ifest o foRdt
THTE ded. Ulq gedrdl Sl WEreRUl garal el Hee AR
TeraomeR gul sl ifest. ATSAM Gdhles &l A WRIUSR, Fehr

6



3, (31)

(<)
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FHO 3L FA e o fHhEA d€t SUarEl hiedsil Hdell Wifes.
TR ASAeR @ehral favar sodl. 81 @l A S1lE; ol @i
Siea AR SR Aiehid @Rl ST ARt @i e O .
IR TSRO B U S faauarEel e iedrell aeRd STHeied
T e feer-vre fitfadt aifesl. ®uN SA9ue,  Se=Rom
90 A YA AR A he fHosd 9 STel UER gERA At
et 9.

TTeitedh! HICATE! Tkt fasmer guR 150 Iiqda Haeaed
ETUE [10]

Tyl gOel qE HIN hRUdt AHeEl UeAdes o faenel I

Sl e T e Sl

feRar

TEE ISk 9 Helfaedrerd fagene ar=amed sieledn gaRre Al
IGECE G T

@l oo U Sarard WIS |IoiaR. &y [10]
In olden days books were written by hand. Such hand written
books were rare and costly. Therefore rich people were able
to buy and read books. The printing press was invented in
the last century. It helped a great deal in the development

of libraries.
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[5201]-1002

qEcTdeh! VTG Wehl fas@meR 300 visiodd fay famsr @ [15]
(i) e

(ii) TUew SAfGERUE T

(Gii) W YIYEHE ;e We....

JEAden! HIVCATR! WeRT fasamr 300 YreRiveda fafercass adier &4 : [15]

(1) A TSR
(i) Tesd AEE HiEH™
(iii) gHUEA @ Th JURT IS



Total No. of Questions—3+4] [Total No. of Printed Pages—8
Seat

No. [5201]-1003

F.Y. B.A. EXAMINATION, 2017
FRENCH (ADVANCED)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
Note :— 20 marks are reserved for the oral exam.
Question 1)

A) Traduisez en anglais [10]

Comme pour beaucoup d'enfants, la telévision occupe peut-&tre une grande
partie de leur temps libre. Un projet de loi, voté par les députés, vise a supprimer
la publicité sur la chaine de France télévision, dans les programmes jeunesse.
Mais l'idée n’est pas facile a faire accepter...Les 7-10 ans passent 3 heures par
jour devant I'écran, et les 10-14 ans plus de 3 heures et demie ! Certains
hommes et femmes politiques se sont inquiétés de l'influence que peuvent

avoir les publicités sur les plus jeunes, en les incitant a (trop) consommer. lls

ont donc eu l'idée d'une loi qui interdirait la publicité dans les programmes
destinés aux enfants. Selon eux, cette chaine a un réle de service public et

ne doit pas encourager les exceés de la publicité.

Question 2) A) Répondez aux questions suivantes. (3 au choix) [15]
1) Les différentes fétes religieuses francaises.
2) Quelle est selon vous la morale de la fable « La Cigale et la Fourmi » de
La Fontaine. Expliquez.

3) Comment Joseph a-t-il aidé le narrateur de son embarras.

4) Faites un portrait de la jeune fille dans le poéme "Elle avait pris ce pli" de
Hugo et montrez son réle dans la vie de son pére.

5) M Jourdain, en quoi est-il ridicule? Expliquez en vous basant sur
I'extrait de Moliere.

6) Décrivez brievement un sport francais.

B) [10]
1) Vous avez rendez-vous chez le docteur a 17h, mais vous serez en
retard a cause d'un embouteillage. Vous téléphonez a |la secrétaire pour
dire que vous aurez un retard. Ecrivez la conversation
ou
2) L'aveugle du Pont-Neuf raconte tout ce qui s'est passé ce jour-1a,
l'incident qui a changé sa vie.

P.T.O.



C) Dites autrement en frangais simple (3 au choix) [3]
a) prélevement automatique
b) claquer les levres
c) caréme
d) chagrin
e) aveugle

D) Dégagez le sentiment exprimé [2]
a) <<Ayez pitié d'un pauvre aveugle>>
b) << Hélas! Que Dieu m'assiste>>

E) Dites vrai ou faux [2]
a) Le 31 décembre, a minuit, les ﬁangais s'embrassent
« sous le gui »
b La « grande boucle » se termine traditionnellement sur
les Champs Elysées.

F) Complétez avec les informations des fétes. [4]
a) La cueillette et la vente du muguet sont libres pendant la féte
de
b) La féte Nationale est féte le
c) Le 2 février c'est la féte de
d) Celui quitrouve la féve sera le roi ou la reine pendant la féte de

Question 3)
A) a)Trouvez les adverbes ; cruel, constant, [8]
b) Trouvez les noms : belle, vieille, jeune
c¢) Trouvez les verbes : réglement, pluie, ignorance

B) Remplacez les noms soulignés par les pronoms personnels
convenables.
1) J'ai ‘invité mes amis pour mon anniversaire. [4]
2) Il a envoyé un courriel a son directeur.
3) M Vincent et moi, sommes allés a Paris.
4) J'irai a Paris la semaine prochaine.

C) Mettez les verbes aux temps qui conviennent. [4]
1) Quand' l'avion (atterrir),elle pourra enfin appeler son ami.
2) La nuit derniére, une incendie(se déclarer) prés de Bordeaux.
3) Si elle venait a I'heure, nous (partir) toute de suite.
4) Aussitdt qu'elle (arriver) a la maison, elle a ouvert la porte.

[5201]-1003 2



D) Mettez au subjonctif /l'indicatif [4]
Une meére donne les conseils a sa fille qui part pour une
randonnée :
<< J'espére que tu (avoir) le temps a m'appeler. Il est important
que tu (se réveiller) a I'heure, que tu (prendre) un petit déjeuner
équilibré, que tu (savoir) bien les renseignements donnés.>>

E) Mettez au passif [4]
1) Le samedi, Il invitera ses amis au diner.
2) |l met les clés dans le sac.
3) J'avais rempli la fiche.
‘4) Le vendeur a vendu plusieurs objets ce matin.

F) Faites selon les indications [6]
1) Vous avez un probléme ? (Répondez en utilisant le
négatif)
2) heure est-il s'il vous plait ? (Mettez I'adjectif interrogatif)

3) J'ai de I'argent dans ma poche, en as-tu dans
(Mettez le pronom possessif)
4) La voiture___je réve collte trés chére.
(Mettez le Pronom relatif)
5) Tu veux la chemise a fleurs ? Non, je préfére _____ arayures.
(mettez le pronom démonstratif)
6) Donnez le contraire : fermer

G)Mettez les verbes aux temps indiqués. [4]
1) Quand il (mourir) il était trés agé.(passé composé)
2) Elles (venir) pour la conférence.(conditionnel)
3) Nous (acheter) peut-&tre un cadeau pour le mariage.
(futur)
4) Mes sceurs jumelles (naitre) en 1956.(plus que parfait).

[6201]-1003 3 P.T.O.
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FRENCH (BEGINNERS)
TEXT : Nouvel En Echanges-Raddi/Paranjpye
Time : Three Hours Maximum Marks : 80

Q1. Répondez en frangais. (6 au choix) [12]

1) Quel temps fait-il en juin en Inde et en France ?

2) Quel mois sommes-nous ?

3) Qu’est-ce qu’on trouve dans une salle de classe ?

4) Combien de mois y a-t-il dans une année ? (en lettres)
5) Combien de personnes habitent chez vous?

6) Qu’est-ce que vous aimez manger?

7) Qui est le Président de la France ?

8) Quel est le monument le plus célebre de la France ?

Q2. Lisez le passage et répondez aux questions suivantes. [8]

Le temps en France
Nous sommes en avril, c’est le début de la saison du printemps
en France. Il fait un temps superbe dans la région du Rhéne-
Alpes. La température est de 8C, mais un beau soleil brille dans
le ciel bleu pour les amateurs du ski. De mauvaises nouvelles
pour les gens de Paris : des nuages gris cachent (hide) le soleil.

Il va faire froid et il y a la possibilité de pluie. Le temps n’est pas
favorable au sud comme il fait du vent. A I'ouest, en Bretagne,
pluie avec du vent. Attention, les bateaux a voile !

1) Répondez aux questions:
a) Quel temps fait-il a Paris ?

[5201]-1003 4



b) Il fait du temps superbe au sud de la France. (Vrai/Faux)
c) Quelle est I'activité sportive idéale dans la région du Rhdne-
Alpes ?
2) Donnez le contraire : froid ; mauvaises
3) Donnez le féminin : beau
4) Conjuguez les verbes au futur proche : « Le temps n’est pas
favorable au sud comme il fait du vent ».

Q3. Grammaire .

A) Conjuguez les verbes : (10 au choix) [10]
1. Claire (aller) préparer un repas indien.
2. Jacques (prendre) son manteau.
3. lls ' (habiter) en France.
4. Est-ce que tu (apprendre) le francais ?
5. Danielle (acheter) cette chemise.
6. Vous (poser) des questions a Nicolas.
7. Nous (demander) la route aux gens.
8. Comment vous (s"appeler) ?
9. Je (lire) des livres en francais et en anglais.
10. La terre (blanchir) en hiver.
11.Joseph (écrire) une histoire d’amour.
12. Mes soeurs et moi (commencer) notre travail

demain.
B) Mettez les prépositions : [3]

1) La chaise est la table.
2) Toutes mes robes sont mon armoire.
3) Le restaurant est de sa maison

[6201]-1003 5 P.T.O.



C) Récrivez la phrase avec le contraire des mots soulignés : [2]
Le chat est gros et vieux.

D) Mettez au négatif : [3]
1. Nous avons des livres francais.
2. Mon pére vient souvent dans ce restaurant.
3. Caroline va habiter dans une petite maison en France.

E) Mettez au pluriel : _ [2]
1. Ma cousine vient en inde chaque été.
2. Le prix est un gros livre sur I'histoire de la France.

F) Mettez au féminin : [2]
1. Mon pere est le directeur de I’école.
2. Le fils de mes parents est mon frére.

G) Mettez un adjectif possessif convenable : (6]
1. Nous avons une grande maison. maison est grande
et jolie._ jardin a beaucoup de plantes et de fleurs.
2. Elle est journaliste, _ mari est coiffeur. Elle a deux
enfants. fileabanset __ filsa4ans.
3. Est-ce que vous avez livres ?
H) Mettez les phrases en ordre. ' [2]

1. Brille/dans/soleil/bleu/le/ciel/le.
2. Chaud/ en/ ne/ hiver/ fait/ il/ pas

[5201]-1003 6



I) Complétez avec les articles contractes (au, ala, al’, du, de la,

etc.) [4]
1. Sophie va donner ses cahiers _____ professeur.
2. lls parlent etudiants.
3. On va au bureau chef.
4. La chanteuse cherche la salle musique.
J} Trouvez l'intrus [3]

1. Du/au/pour/ al’/des
2. Livre/robe/cahier/stylo
3. Grande/belle/bleu/veille

K) Récrivez selon les indications : [10]
1. llvaboire ___ eau. (utilisez un article partitif)
2. film est intéressant mais long. (ce/cet/cette/ces)
3. Les plantes sont dans (la cuisine, le jardin, le salon,
la salle de bain).
4. Ma niéce est la de mon frere. (tante, soaur, fille,
mere, grand-mere).

5. Vous lisez les livres en frangais. (mettez a I'impératif)

6. Qui écrit la lettre? C'est . J’aime écrire les lettres.
(moi/toi/lui/elle/nous/vous/eux/elles)

7. Nous allons partir Canada en été et nous allons
habiter Ottawa. (en/ a /au)

8. font beaucoup de travail et vont souvent a
I’étranger. (utilisez un pronom sujet)

[6201]-1003 7 P.T.O.



9. Qu’est-ce que tu (faire) ce week-end ? Est-ce que tu
(aller) a Delhi ? (conjuguez les verbes au présent
et/ou au futur proche)
10. Quelle heure est-il ? 5:15am

L) Reliez les colonnes. [5]
1) A demain! a) Goodbye!
2) Comment ¢a va? b) Hello!
3) Pas mal! c) How are you?
4) Au Revoir! d) Not bad!
5) Salut! e) See you tomorrow!
Q4. Ecrivez une composition sur: [8]

Mon acteur/actrice préféré(e) OU Ma saison préférée.

[5201]-1003 8



Total No. of Frages—4+5] [Total No. of Printed Pages—8
Seat

No. [5201]-1004

F.Y. B.A. EXAMINATION, 2017
GERMAN (BASIC)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory. Written paper contains 60 marks.
10 marks are for Listening Comprehension and 10 marks for
Oral Exam.

Frage 1. Beantworten Sie die folgenden Fragen! (Nur 10) - [10]
Was essen Sie zu Mittag und zu Abend?

Was macht Thre Schwester in der Freizeit?

Wie heilit die Hauptstadt von Deutschland und die von Indien?

Warum lernen Sie Deutsch?

Nennen Sie 2 Nachbarldnder Deutschlands!

Thr Freund hat Kopfschmerzen. Was soll er machen?

Was haben Sie in der Kiiche?

Wer ist Ihr Lieblingsschauspieler?

A A A i

Was darf man in der Bibliothek nicht machen?
10. Ist Thre Mutter Arztin von Beruf?

11. Wie lange dauert der Deutschunterricht?

12. Haben Sie Grofeltern?

Frage I1. Ubersetzen Sie! [12]
Ubersetzen Sie ins Englische!
A) Ub Sie ins Englische! (04)

Peter studiert Physik und Biologie. Er sucht ein Zimmer. Seine Eltern sind nett,

aber er mdchte mehr Freiheit. Wolfgang und Rudi haben zusammen ein Haus. Sie

haben eine Wohnung frei. Sie kostet 330,- Euro. Peter mGchte die Wohnung haben.

(B) Ubersetzen Sie ins Englische! (04)
Ich heifle Marco Satori. Ich komme aus Italien. Aber meine Familie wohnt schon

zwolf Jahre in Deutschland, in Diisseldorf. Mein Vater arbeitet hier,

P.T.O.



meine Mutter auch. Ich bin 14 Jahre alt. Mein Bruder arbeitet in Palermo. Ich spreche

gut Deutsch, aber auch gut Italienisch, denn mein Vater spricht zu Hause nur

Italienisch.

(C) Ubersetzen Sie ins Deutsche! (Nur 4)
1. We are happy today.

They are going to Mumbai.

Would you like to eat something?

Keep the newspaper on the table.

The mother picks up her children.

When did you do the work?

IS S B

Frage I11. Grammatik und Wortschatz.
(A)Ergiinzen Sie die Personalpronomen! (Nur 4)

Das ist ihr Kind. heilt Kerstin.
Er regnet, hast du keinen Regenschirm? Nimm meinen, ich bringe
Hallo Kinder, was macht _____ ?

Ich trinke Wein. ist lecker.

bAoA

Meine Eltern wohnen in Belin. Ich schicke einen Brief.

=

(B)

rginzen Sie die Possessivpronomen! (Nur 4)

Bist du mit Arbeit zufrieden?
Ich lese gern Krimis. Das sind Biicher.
Guten Tag, Frau Goethe. Sind das Kinder?

Das ist mein Bruder. Ich benutze immer Bleistift.

M e

Liebe Freunde, ist das Familienfoto?

6. Kurtund Lara, wieist _ Nachname bitte?
(C)Schreiben Sie das richtige Modalverb! (Nur 4)

1. Was ihr trinken?

2. Das ist eine Schule. Du hier nicht rauchen.

3. Esist schon 7 Uhr. Ich los.

4. Geht es Ihnen nicht gut? Sie zum Arzt gehen,
5

ihr bitte nicht langsamer sprechen? Wir verstehen euch nicht.
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(04)

sofort.
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(D)Ergiinzen Sie die richtige Priposition! (Nur 4)

1. Die Vase steht den Stiihlen.

2. Die Politiker sitzen den Tisch und diskutieren.
3. Cem Giil kommt der Tiirkei.

4, 60 geht man in die Rente.

5. Xavier hingt das Bild die Wand.

6. dem Bett liegt das Baby.

(E) Schreiben Sie die folgenden Siitze im Perfekt! (Nur 4)

1. Ich wechsle Geld immer auf der Bank.

I

Wie lange tibt ihr Deutsch?

6. Er kommt mit.

Wir fliegen von Pune nach Delhi.
Meine Oma erzéhlt uns jede Nacht schone Geschichten.

Der Lehrer hort nach einer Stunde auf,

(F) Schreiben Sie das richtige Verb! (Nur 4)

(bekommen, finden, weh tun, kaufen; aufstehen, nehmen, fernsehen)

1. Ich bin krank. Mein Kopf furchtbar
2. Stefan sonntags um 10 Uhr
3. Wir eine Ansichtskarte von Patrick.
4. Wie lange ihr jeden Tag ?
5. Maria hat Fieber. Sie . Tabletten.
(G)Schreiben Sie die Gegenteile!
1. SuB X
2. aufstehen X
3. lang X
(H)Was passt?
1. Ich mochte Kuliskaufen. Hier sind noch (eine/welche/einen).
2. Das Heft ist noch auf. Machst du siebitte ? (zu/mit/nach).
3. SeienSie _ ruhig(und/ bitte/ sondern)!
4, Fahrkarten kauft man (in/auf/fiir) dem Bahnhof.
[6201]-1004 3
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(I) Bilden Sie Fragen! (Nur 3) (03)
1. Meine Mutter bringt mir einen Hund.
2. Ich finde den Stuhl groB.
3. Das Fuf3ball-Spiel dauert 90 Minuten.
4. Morgen gehe ich spazieren.
5.

Nein, er hat eine Schwester.

Frage IV. Schreiben Sie iiber eines der folgenden Themen! [06]
(A) Meine Geburtstagsparty oder Meine Eltern (04)
(B) Schreiben Sie einen Zettel oder eine SMS! (02)

Schreiben Sie einen Zettel ODER eine SMS fiir Katherina. Sie mochte gerne ins
Museum gehen. Heute Abend haben Sie keine Zeit. Aber morgen konnen Sie. Passt

es morgen um 16.00 Uhr? Katherina soll wieder eine SMS schicken.
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[5201]-1004
GERMAN (ADVANCED)
Time : Three Hours Maximum Marks : 80
Note :— Use of a dictionary is not allowed. This paper carries 60 marks.
10 marks are for Listening Comprehension and 10 marks for
Oral Exam.

Frage 1. Ubersetzen Sie die folgenden Texte ins Englische oder Marathi! [14]

(A) - (04)
Sport ist zwar aus Stefanies Leben nicht mehr wegzudenken: Nach ihrem Studium fand sie eine
Stelle als Redakteurin bei einer Sportzeitschrift, aber die Zeit des Leistungssport liegt endgiiltig
hinter ihr. Heute ist fiir Stefanie Sport vor allem ein Freizeitsvergnligen- sie genielit es,
zusammen mit anderen Sport zu treiben. Stefanies Sportarten haben sich geéindert, aber die
Freude an der Bewegung ist geblieben.

B 04
Die(m)eisten Kinder und Jugendlichen bekommen Taschengeld. Aber oft ist das Geld n(ich?t
genug, denn die Wunschliste ist ziemlich lang. Was machen dann die Kinder? Wie erfiillen sie
ihre Wiinsche? Klar muss man dann etwas dazu verdienen. Aber wie? Sie machen einen
Nebenjob. In Deutschland kénnen die Jugendlichen auch als Schiiler einen Nebenjob machen
und ihr Taschengeld aufbessern.

(C) Ubersetzen Sie ins Deutsche! (Nur 3) (06)
1. Family and relatives are very important in life.

2. Do you like piercings and tattoos?

3. The city of Dresden has a very long history,

4. The Germans like to eat bread and drink beer.

5. Every morning I take a bath with hot water.

Frage 2. Beantworten Sie FUNF der folgenden Fragen! (10]
1. Thr Freund/Thre Freundin ist oft krank. Was soll er/sie essen und trinken? Was soll er/sie

nicht essen und trinken?

Welche Probleme haben die Migranten normalerweise?

Wie viele Jahreszeiten gibt es in Deutschland? Wie heifien sie?
Was sind nach Ihrer Meinung die wichtigen Werte im Leben?
Schreiben Sie kurz iiber die Landschaften Deutschlands!

Wann wurde die Berliner Mauer gebaut? Wann wurde sie gefallen?
Wie feiern die Deutschen Silvester?

Was wissen Sie {iber die Stadt Dresden?

© N YR W
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Frage3. Grammatik und Wortschatz [24]
(A) Schreiben Sie die Sitze in Passiv! (Nur 4) (04)

Der Mann packt die Geschenke.

Friiher schrieben die Leute oft Briefe.

Franz rdumt das Zimmer auf.

Der Mann verkauft am Bahnhof Zeitungen.

Die Eltern haben die Ostereier in den Garten versteckt.

Herr und Frau Meier miissen bis Sonntag alle Dokumente schicken,

[« WL U T N % I N0 I

(B) Schreiben Sie die Siitze im Priiteritum! (Nur 4) (04)

Frither . Heute hat jeder ein Handy.
Heute lesen die meisten E-Biicher. Frither

Heute machen auch die Méanner Haushaltsarbeit. Frither

Frither . Jetzt hat er mit Rauchen total aufgehért.

Man die Berliner Mauer im Jahr 1989.

Friher . Heute wollen die Kinder lieber
bei den Eltern wohnen.

R N

(C) Bilden Sie das Perfekt! (Nur 4) - (04)

Der Mann sieht seine Frau kommen.
Man ldsst die Gemiise kochen.

Die Frau kann nicht so gut Deutsch.
Viele Jugendliche lassen sich tatowieren.
Ich hore jemanden singen.

Er muss sehr frith aufstehen.

SR ol e

(D) Verbinden Sie die Siitze! (Nur 4) ' (04)

1. Er geht zum Unterricht. Er hat hohes Fieber.
2. Die Frau hat ihre Geldtasche zu Hause vergessen. Sie hat kein Geld. Sie hat auch
keine Kreditkarte.

3. Die Leute haben keine Zeit. Sie treffen ihre Freunde selten.

4, Das Leben in der WG ist gut und interessant. Es hat auch Nachteile.

5 Ich habe einen neuen Job bekommen. Habe ich dir davon erzihlt?

6 Das Krokodil lebt auf dem land. Es lebt auch im Wasser.

7

Hunde essen gern Fleisch. Sie essen aber auch gern vegetarisch.

(E) Bilden Sie Relativsiitze! (Nur 4) (04)
1. Kannst du mir dein Kleid leihen? Du hast es letzte Woche gekauft.
2. Die Lehrerin ist nett. Sie kommt aus England.
3. Der Mann ist sehr reich. Er arbeitet sehr hart.

4. Deutschland ist ein Land. Es liegt im Herzen Europas.
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5. Meine Grofeltern wohnen nicht bei uns. Sie haben eine Villa auf dem Land.
6. Herr Beck arbeitete bei Bosch. Er ist jetzt ein Rentner.

(F) Erginzen Sie das richtige Wort! (Nur 4) (04)

1. Viele Leute aus Albanien und Syrien wollen nach Deutschland. Deshalb ist
Deutschland heute ein geworden.

2. In Deutschland ist ein Gliicksschwein ein .

3. : Mehrere junge Leute teilen die Wohnung und den
Haushalt.

4. Deutschland hat 16 .

5. Frankfurt ist das Deutschlands.

6. Viele Leute yvollen sehr stark abnehmen. Sie essen und trinken kaum und machen
zu viele Ubungen und beldstigen den Korper. Das nennt man den

Fraged4. Lesen Sie den folgenden Text und beantworten Sie die darauf folgenden [08]
Fragen! '
Biume sind sehr wichtig im Leben. Wir essen ihre Friichte: Apfel, Birnen, Kirschen, Niisse,.

Sein Laub gibt Schatten bei Sonne und Schutz bei Regen. Man braucht sein Holz im Winter zum -
Heizen. Aus Holz macht man auch Mdobel, Papier, Héuser, Schiffe, Musikinstrumente und auch

Streichholzer, Der Baum reinigt die Luft und verbessert das Klima. Ein Baum kann Sauerstoff

fiir 10 Menschen produzieren. Der Baum schiitzt auch den Boden, seine Wurzeln halten die Erde

fest und speichern das Regenwasser im Boden. Es gibt Biume, die bis 2000 Jahre alt werden.

Meistens wird aber ein Baum 200 bis 3000 Jahre alt.

Der Mensch produziert viele Sachen, die sein Leben leichter und einfacher machen. Diese
Sachen sind aber fiir die Natur sehr gefdhrlich. Fabriken, Autos, Industrien, Heizungen
produzieren mehr als 4000 Gifte, die dem Wald schaden. Besonders geféhrlich ist der saure
Regen. (Saurer Regen = Schwefeldioxid d.h. SO2 + Regenwasser). Er zerstort den Waldboden
und die Wurzeln. Dann werden die Bdume schwach und krank. Baumkrankheiten und schédliche
Insekte zerstéren dann die Bdume. Langsam stirbt der ganze Wald. ‘

Ein Picknick im Wald oder eine Wanderung ist sehr schén. Man darf aber dann die Plastiktiiten,
die Papierteller und Handtiicher nicht einfach wegwerfen. Versucht Energie zu sparen, dann gibt
es auch weniger Abgase und mehr frische Luft. Sonst werden eure Kinder eines Tages fragen:
,,Mutti, was ist ein Baum?*

A. Beantworten Sie die Fragen! (Nur 2) (04)
1. Was alles kann ein Baum? -

2. Was bedeutet eigentlich Waldsterben?

3. Was bedeutet Saurer Regen?

4. Wie konnen wir den Wald schiitzen?
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Richtig oder falsch! (02)

Bdume helfen den Menschen viel.
Saurer Regen ist gefihrlich.
Die Kinder wissen nicht was Béume sind.
Bdume kénnen ein langes Leben haben.
. Suchen Sie aus dem Text: (02)
Das Gegenteil von schwierig
Zwei Feminin Nomen

S Bl ol e

FrageS. Dialoge Schreiben [04]
Erginzen Sie den Dialog!

Gesprdich tiber eine Reise

e Hallo Katrin, du bist so braun. ?
= Ja, ich war doch mit Max in Spanien.

. ?
* Jasehr. Der Urlaub war wirklich toll.

¢ ?

Super! Es war ein Fiinf-Sternes Hotel. Wirklich fantastisch.

* Immer Sonne. Nur einmal hat es geregnet.

Wir haben die Stddte Malaga und Cordoba besichtigt.
e Oh super. Und jetzt musst du wieder arbeiten. Wie schade!
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(A) Bang-e-Dara.
(B) Chand Hum Asr.
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L
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YA TN
WrSetd ()
s Jussis ()
1] EFIAECES G e U
TS e J1Ao T ()
s a5 Fe
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Seat
Y. [5201]1-1010
F.Y. B.A. EXAMINATION, 2017
HINDI GENERAL-I
(fr wmr=r ww-1)
(2013 PATTERN)
g ;W ue qutieh : 80

UeHEeh — (i) TE 9¥d — UURH : e IEE BER|

(i) & ARAT — FURSH : . W L |

H\v‘:ﬁllf — () |t A fEd ¥

(i) <fedt 3R fa@ % g & Yois 2|

1, fmfafes 4 4 fo=i @ g+ & s fafeaw [16]

(@)

‘T9-TYeR’ HEMl B JeWA T RIS |

(i) ‘W@ ® T wEM § TERST 4 §EN H AW qEe W fEg
ghR TR fHar ¥ 2

(iii) 'g@' weHl w1 R AU vl H fafem)

(jv) ‘TR &1 B’ wert # Afew 1 geETRE Stad @ e fea
YR fRam ® 2

(v) ‘TR & F@ 9’ wErt B U &t @il gfa # feew fRe ger
fom § 2

2. fAfafed & 4 fo=ki @ el & sw fafew . [16]
() ‘'IHT QA AW WR ®A' Hfaga w1 9@t quw v § fafew)
(i) ‘@ M T UR' wfgwm # g HEE WY <q T ?
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(ii1)

(iv)

(v)

3, (37)

(am)

[5201]-1010

‘Stoeta T’ wfaar #§ wfa T oo del e ¥ H RE I
fopam  ?

‘S foremd died §' wfaar # wfg 7 9™ w1 "o feg wer wfaurfed
feam ¥ 2

‘oThTel 3R IUH A’ wigdl B wfa A kI Hi feafq @ femwr

fre gyeR fear © 2

[ an] [ S

Tefaferd staaeon # @ fedl Ueh sTaawun i gducy sare
EdISLEEE [7]
(i) “fR oS & @ kA, TUA AN SN G US| FHES H IHE

R AT T, THA FR @R d=d a6l & dd gH 39 W@

% T @ el
() ‘o T ¥ *E gE & & eEm AW T emm ot @ ww
ff aafd| a8 gea ¥ @wel & & 99 S U 9 ot
H HEUT ;T A 1"
fefafed saaen # § fodl Ue Iamiul i §oeH =
Hifeq [7]
(G) ‘TR F1 foa 9HiNd <@ q9 ' OSTN,
@ a® h frene w1 et 3w
oY W E-3@ ¥, U E-ud %
T TH-TH wal w1 g9 ot efem)”
(ii) ‘& @ A TN Al
SH% Tl H
FEEl W ARl A FRA G
H ™ & za gen uewm g

2



4,

[5201]-1010

(31) fr=afafea oftafees ot § @ f5 eme & f&t wata fafew @ [8]

(i)  Account

(11) Agenda

(iti) Cash

(tv) Formal

(v) dJob

(vi) Proposal

(vii) Record

(viii) Trust

(ix) Transfer

(x)  Witness.
(am) frAfafed & @ f<l ome ail &1 S wa R § fafem

(i) HA B T B W e

(i) ww foamnedl w1 g @l fherm

(i) W H F AT

Gv) @t @ A FE wE

(v) ¥8 SBA TRER T

(vi) WA W TIA A

(vii) T€ & IW a d3 T

(viii) FHRT HT off@l ¥ oy ww W em

(jx) A TS H@ b WY TR

(x) @Mk F Ja1 & Tl H Th Ha Hl Hel Sl
(3) fmfafed & 4 fodt e TR &1 &S # saR &ifvw

: [8]

: [6]

Today when we dream about India becoming a great empire,

we actually forget farming. There are lots of industries in our
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country but how many agriculture related industries do we
have ? This question is thought provoking. Everywhere, in this
nation, we find the farmers in the utter darkness of depression.
The important questions like electricity water, good quality seeds,
capital and market have stood on their way, we should remember
that the nation cannot progress until the eighty percent of
the farmers development takes place.
3Ygdr

S SR SA90] WMl S0 W& redl deal B X idten formtera
STEAl. A QI SEMTE VR SRR FEH, B SAE; 9O AW Qe
Hafgd @M fhdl sed 7 @ fouR S@en dEum yee SR ovid
e g fomd, wiggd 9 dNRUS ST TeWM UEA 39 SR
Wi 2o Vae-aran faem™ 9 2ar e W faw™ 3% Ik AR
T ANY SEW SAEel g

5. fmAfafea § 9 fodt weh fam w fey fafeg [12]

(@)
(i1)

(ii1)

[5201]-1010
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[5201]-1010
(yasgeeh f&dl) (Functional Hindi)
g ;AW ue qutieh : 80
'FE?T@: — (1) |t A fEd g
Gi) e oR fa ow v # i E)

1. (3) Tl sEst okt s § @ fo<l 8 vl & fG&l 9o
fafEm [6]
(1) Abstract
(2) Assistant
(3) Candidate
(4) Damage
(5) Enquiry
(6) Full term
(7)  Good faith
(8) Posting.
(zm) frafafea § @ f&=ki ©: wfoda sffwei deon fo@ &1 AaFe o

% HAgER fafew [6]
(1) 2%

(2 11

(3) 100

4) 67

5) 28 + 15 = 43

6) T4%

(7) 5 x b5 =25
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8 14
9 35 - 22 = 13
(10) 87.6

2, frefafed sl § 4 Tl 36 IRl &l AFE addl & ¥R W IS
e fafEy [8]
(1) E Ao Joo TR TE & A d M OF)
(2) a ®f FwE MM M T
(3) oM WEfeFa & ff @@ ¥ ?
(4) THE H Aed B WA g
(5) T o A& §l

(6) THHI @S HaX Tl

(7) & & &G B

8) WA &% A wad w0

(9) T el ® HRE HA =6l

(10) gferm & ik ¥R &l UhE w A T

3. (3 fmafafea =g &1 te-faeE o= # 9R-wed a 3§ 3fua e
ISR [6]
‘TUTER TE’ T Hell ©1 3HH qe, Adehdl, STMeR, FHed T4 foER
T ofe o1 were Tear ¥ fafay-fasei, &, o @ geeed
SR TfdfafeEl 1 ®H | &H &I § AR GWERIel @1 § qIehi aF
TEAAT FAER e’ 1 G SRR €1 FEi S6H Wold ot wEd
¥ TeS Wi ofR uieshi i SifEfEdl #1 W{fe | @ AR
fale ®3d g, FYERTell OHMR o@d H fhIladl W[ $id & fag
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(em)

4, ()

(em)

[5201]-1010

Tg EvId © fF 998 Uedl ‘THER’ &% WEY HI, 3Tk YgE dci

A YRR HI SAHR @ HL o S

frafafea o § @ fFdi & W & YEY @R &S [10]

(1)  ghe/gum WR, ‘<TETd Yaq’ 9GS, a@e ¥ quR/aqsn
Y, 14 WHAREY AE, AMER hI d & faew & Suded
H fsor o Sy asdt g

(2) THR/GAW U, 151, WAL WSl, STEHGTR H  Isure/Jsure
Ay, & AgH, HY FA@HEE, SFTEHGTR & AH ST
TREa ®g STaeA-ud  foredn/faedt €1

(3) ofSlell IHY, HAMR, #d, e ¥ weR M sifuerl,
¥R, HRMTR fm A1 sl e R & HegH ¥ HUSETE
S HSl 7 3T 9H & T H e o faedt w)

frafafea § & f<l & fawdi W faqm\ &1 @ @R SIS : [10]
(1) Jgig| k1 fagma |
(2) 3 W faw W *Husi w1 faqmuai

(3) o wWeRdl Wi fora |
(4) B FA& Hh1 A
frafafed wdt gar s uR=e &1 &S e &S : [6]
Tl SR Afid FEReE Seed SRl STTU A9 ey STl
3TRIA. 3H=l Al el oaehyd daeh e = eTdeard 3Tl

T A= U STieE Sieciedl 3TRd. e Sl hiH  h&d
Nes
e

N

N N ©
i Slledl 4zl
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(am)

[5201]-1010

AT

We have shifted our residence from Fancy Bazar to Aurangpura.

We shall be grateful, if you make arrangement immediately

for shifting our residential telephone to our new residence.

We may state that a line connection is already therein the

new flat. So the work to be done is negligible.

(1)

(2)
3)
(4)

(31) fr=fafed aogada awd 8§ ¥ f6dl @9 & Sw fafew [12]

IRd WeR g gia o wedt yq@ f=E &1 o=
IS

werges B # fageand fafew

o T dEtee & a # Rl w1 owEm faew wifs

FIAR WEF hl HEA TR hHiTST |

frfafea farai & @ fosl w® W fewfmat fafen [16]

(D
(2)
3)
4)
(5)
(6)

foqmoA 1 wew
AIIEHE H
Tart fafs &t foremnd
TEE0 e
STEER % YHE "
EIREECN C
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Soat [5201]-1011

F.Y. B.A. EXAMINATION, 2017
PERSIAN
General Paper |
(Text : Aks-e-Farsi)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .—(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
1. Define and illustrate any five of the following : [10]

K Q)
/:'.AJ (r)

(bu’"{ (r)

0 ()
sl (o)
g
psbvl (2)
2. Write short notes on any two of the following : [10]
$&~ (D

P.T.O.



Sis ()
Jr ()
o/w‘; ()

3. (A) Reproduce on any one short story of the following : [10]
Folet O
ug(uz = (r)
Beof e (1)
(B) Write short notes on any two of the following : [12]
Jer ()
SilFsb (1)
SFBE (M)
c A (M)

4. Translate and explain into English, Urdu or Marathi any ten coupletes

of the following : [20]
o gt for el )
b IR
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Y Ufﬂu .{;U (f)‘/,
’/L/T}.l: lwré;f
/l%_}}/; u",jﬁff

& SIS
:«.lgfy/;ff;tfz o8

SISV EVER
e JUae o F33390 § s

T w17 Ul 310
?f:'juf,. gl cf;;'y’]'f:/u

ayy g/_vg/“a,u%,f}
e e il

r}}f/’f’uoé;)og
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(")

")

)

(o)

()

(2)

(A)

(9)
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et QET I s 12 (10)
pi;uygrtu”;?&/‘;/f

Jr Ul 27 SLe g1 (D
ju{)]’}o/kj;"%’;l:

L ef ey (IF)
Lo O F

5. (A) Translate any two passages of the following : [10]
s sttt s T Jbass S et U sl (D)
J“:«/af[/? i J’ulﬁ)g]ufj’o:nf/. /&,lﬁ:,gl,fl}g Rl
JL/(/’//. f?/fu)u&biué/gunJc.«/’/:gﬁ?,uub,{i
-3 c«;l;UW}}QU}L/Z{»Q/.)?;?L&D@)&
/.{)’-u{/ﬁ'uw/@fjﬂvfdbgfmun;/,g u‘@?fjiouﬁ (")
'ﬁ/@r'fﬁ,hz/"oﬁig‘a/”qﬁ{)';/ﬁ'}baﬁuﬁvﬂ
S Sar ST S < 0 Utk $aT s S ST 23
% uygjw);&/!u!_:«éq/. e e 47 lf“’uu}n{.g
c«%y,:}/Bj’zjfp.jfnT-&//.fo'/DJVQJ&;?JMM
-ATﬂﬁazl/Jﬁ‘c_{)tdﬁ)/d)L/',gu d%ua
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S A ?Tub:/’.‘:ﬁfz: Y :5/,.:(}2./&/) et (M)

1A T UTe Froli 56T 81w e ¥ ouT T I e das oo’
BETREAEY SNSRI N PRPTSY R NI O RT ST
C/)K);g}f’)’ f/).l://ﬁ’ :d}’)/’/‘.b‘a‘f{]? : Jd/ft u:;}";)u
Tt s K eedl S S et UT 80 as § T K K
—erl I

(B) Translate the unseen English passage in Persian or Urdu or

Marathi : [8]

A teacher is an ideal guide for an eager young mind of a

student. An ideal teacher makes his students feel very

comfortable.
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat
o, [5201]-1012
F.Y. BAA. EXAMINATION, 2017
SANSKRIT (&) (G-1)
HURA(Surabharati)
(2013 PATTERN)
9% : A A THUT T : 80

AT — (i) wd g fEn  sTRa.
All questions are compulsory.
(ii) SSeIHkeld 37k U O o

Figures to the right indicate full marks.

1. ‘s’ enfor ‘e faurTdial Yo IR e Audid feRam SuSia iR
Dl

Translate any fwo from ‘A’ and ‘B’ Sections each into Marathi or

English :

‘or’ faum

(Section ‘A’) [8]
() O da= eI T o w: e giet fovd qoi wmma = =%
ARz Afd Afd e amaesd: | addgEuEa sifad a¥a

Shifad =1 Tgaas g sy famafa | o1 e gei-3Ae A
e T A JRE WEM 9% ded # IR

P.T.O.



(i1)

(ii1)

(@)

(i1)

(ii1)

[6201]-1012

Td 9 FAIsf fywe: werHRasniafasen TehERide stegHfdereat |
Y FHfawsd a9 YIRS GHEM: | d gsal o fdeqdl g
Faa-T1 d ufd yafed e, deRd Pegaaaiea]— STl TSy
RN | T TIAHTET I e | Tafeal I8 JHfo: |

forgern — el wfosafd | TARYIvS =g Trefaent U WisT | HHTEIIe -

amgsdl A Hieedl ©dd TRl HIdidel gl 9 Sid |

T — HE, feaa gfdehdead |
foagees — ST |
RSl — < Td|
fogeeh — ISWHGS: YONAI U O HUATH |
‘w' faam
(Section ‘B’) [8]

TSR] SISl FFI=TaIRT: |
faata wetaren amned  fafsfoE: |
e g YA e dfoam |
fodmfaaea St Amu foo, gamm |l
™ Sifaeen  Mfveegfadefy )
fresfvs agfa: Hueodg: TR
If TEfE w0 & WSl Hued YU |
AY: Y&H Tl G ergusary

T -3 hIsATHawd: qfads T¥ad SN R/l

qEETCIEE: Y USYT Y Hg: UIRed: |
el s fafesevegl ardiseen  whivd:

JE&eh A I[Sha gl chcolodTTeTeh:  shHfad Il




2. (i) Afem ma gufaradeulda wifeca foar T . [16]

Explain Kautilyas views regarding the settlement a new town.
feRat/Or
(i) ‘‘=srdew foumrum’ Sewidial STomen Wreieie afvrse |, [16]
Explain with reference to ‘‘=gidie® fammm@um’ the politics
style of Bana .

3. (i) TH<EUAHE THURU [16]
Appreciate the lesson TH<EUAH.
feRat/Or
(i) TUIUGISTATHA WL holad TIEUTH  IUH T . [16]

How is Panduranga described in TUgISTIEHRY 7

4. ‘1 et ‘' founTdial YR SR qreid 99cY TSI &Ad
Explain with reference to the context any two each from
Sections A and B :

‘or’ faum
(Section ‘A’)
(i) “oeHd SR Sifad gy A |

o AV

(i) IfETRel A= e q A |
(iii) oA Wek TR gd W fomm € ud fafgaql [8]
‘' faam
(Section ‘B’)
(1) TAIIERA g9 gedde: |
(ii) oA WSl qUgTEITH |

(iii) STeghel WU QIGEHT<h §:@H | [8]

[6201]-1012 3 P.T.O.



5. el g dreier faows uftme femr [16]
Write short notes on any two of the following :
@) frn gl
Chicago ‘&HIRER’
(i)  TEIT Heel Hoew
Snake bite to ‘¥ad’
(iii) SeHAEATE B
Friendship of ‘3¥orquras’
(iv) FfaeEEMd A9 eert aftte ' gafaer=n’’ seR |

Kaidas's views on best teacher in ‘‘gHioatcia’’,

[6201]-1012 4



Total No. of Questions—5] [Total No. of Printed Pages—#6

Seat [5201]-1015
No.

F.Y. B.A. EXAMINATION, 2017
ARABIC
General Paper |
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
1. Translate into English or Urdu or Marathi any two of the following

passages: [20]

S Al Gl Dy s s e s SN (e s ISR (L

- 7 P

A - 2 . 2 “ LI 2 &5

T P 2

5o Cmd) [ war ) odadl O pl s ha el 5 adl g

A Ae z . - <57 - - I w 7 7 < )
G IS WV EOr il I | GO S:Y RS- Py W [ RGN | B W T B ) (V.

-~
A e

- LR N PR /f; - . > . ? _ 2 2. Ga
OV Ja s i) _éjs\ ¥ ‘/\.fj?}\ st e 8 i) A ds ), 0N

2T 2 2 2 P é/i//// E A ERERG .
s 3 eV CiSS S ey UN S8 5 SLSU mzisy Joaadl

e B LN S SRy SRR Y IR S NG I S A
“_alLl

P.T.O.



,,/)w

J.:— L.w L.@..: CJ..A; _} oJ.AJ. LS J..)a.‘.; 9 4 4\..,‘._.\..\._>=_H _H g_,._AJs._: J\._Aﬂ U

3 gl LSM Cj>=.’ J\.&.w oji_ﬁ\._, g_,._&_l._s 9 d\.k_...a._“ _S‘ g_,._b.k_a

;

PRI O P N P EH SIS JEA Iy 1N SN
s ad) S Sl Ll 5 Al Che D _ay 2050 G sl I L)

s 4 . .s 2 .o - s 8 P - LR
S B g Jradl) (B o) e s AL 7S

P

il UAM OB AR INOA NPT 0 RN R R

-

-

2 ) -
25 d\lmaw L:’.

},\.

i
o\
\NO

C-\-h.m.s ‘

e1,al e Sag

- < 3

85 87

é.-:.::‘.?.- L.S 4..4..«..«.?;3 ‘ u \..’ ‘ u\.b 4..«..4.4.?;5 ‘ }M ‘ ‘ u\.b J\ﬂ L?- 4.:..«..«.?- 0 u\.b ”

SR SRR S

. o 8 57 . L > P _ 2,
J ol _5.;,_,;.;;5\J._€.3 i _aKas <3\.§J._3 ¢ B tb)jj_>=_~o J._AL_>-

-

[t B A oy w o, :)} // 3 /)}

-

o2 ;/} w 2 28 -
A “- -

2 2 -
SJ.A)’ é).l.}/' _CMA.‘.’ oJ..»!sJ RSN C\...,a.’ oj>=_w

-

S
©w

ST e g

1
\\Cr_ €

A

f )

757 3 25 08 Mo - 22

Ll g il el A Rled i el (2 sd

I o j“;}
-

(<)

(@)
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2,

P.T.O.

Explain any five of the following couplets :

Ls'é'j L u"@-'s 'L
g?‘j._éj.j\ ;;2;; L
oS ST

> 28 o, vooe

CEBILRC ROk

o ) 53 1575

P

k3 Lhae BT
OFHH{IRAHIT

2 W 2 W

PN

s L s w
Ls.sl.sj.@.b

S &

[15]

Q)

(V)

)

(8)

()

V)

(V)
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S &

<

C_«

o))

s 27

&S

2

2 2 )

2 2 }}) -

et A Vs

2 2 - 2 w

LS.:.&*& C?.LJ

-

PR

Explain with examples any two of the following topics :
el ) A

w - A R b
JL>.=.H djjp—

2 ;5 A2 w/};i
e 53 STl

=

2 -

ESA]

(M)

(1)

QR

[10]
QP
(M)
(")
(9)

(A)  Translate into English any five of the following sentences : [10]

PRI R P
w > 2 P - s 2 -
LS“fJgM el el
. 2 . 2l . 3.
L?j""”‘“@'f A.A-%U Cﬁ c;.—b le.;

PP RN FWNES THIITE

(V)

(M)

(™)

(9)

[5201]-1015



P.T.O.

(B)

E:L;{;.— Z/\j;\.,ﬁ.ﬂ s (°)
A s ()
s B aliais Lo (V)
wE S EGY; (A
é;fi :s“:“;gj ‘ (V)

s SEINEWL () )

Translate into Arabic any five of the following sentences : [10]

(1)
(2)
)
(4)
()
(6)
(7)
(8)
(9)
(10)

This school is good.

The chair is comfortable.

This bus is coming from the college.
There is a student in the class.
There is a table in the room.

On the window there is a curtain.
His office is far from his home.

Is your school closed ?

The colour of his car is beautiful.

He is going to his friend.

5 [6201]-1015



5. Write in detail any two of the following topics : [15]
Sl At ()
SN ()
PO USRS o

SURL (9

6 [6201]-1015



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

. [5201]-1016

F.Y. B.A. EXAMINATION, 2017
ECONOMICS
(G-1 : Agricultural Economics)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i) State the importance of Agricultural Economics.
(it) State the demerits of co-operative marketing.
(iiz) State the types of Agricultural Labour.
(iv) Explain the objectives of World Trade Organization.
(v) Explain the traditional methods of irrigation.

(vi) Explain the features of Agricultural Labour.

2. Answer the following questions in 200 words each (any two) :[20]
(i) Explain the causes of farmers suicide.
(it) State the problems of Agricultural marketing.

P.T.O.



(iiz) State the problems of agricultural finance.

(iv) State the types of new irrigation system.

3. Answer the following questions in 400 words (any one) : [20]
(i)  Explain causes and measures of Low Productivity of Agricultural.
(i1) State and explain reasons and remedies of Drought.
4. Write short notes on (any four) : [20]
(i)  Organic farming
(ii) Food Security
(iii) Foreign Direct investment
(fv) Minimum Wages Act
(v) NABARD
(vi) Water management.
(TS wUIaR)
9% : 9 q™ THUT TOT : 80

ol :— (i) Wd WA Giefau Sfevas .

1.

(i) eSSk YA U o Seifadm.
(iii) TRYER oo TUST YTAUlAh TRTE.

etel YT Tl 100 VK[ 3ail fogl (gt 9r) ¢ [20]
(i) ‘P SIS’ WEd 9.

(ii) WehR fIuoETdar <@ Erm.

[6201]-1016 2



(iii) TAHGIS THR  HA.

(jv) SIFfdeh SUR FeeTdl Il T &
(v) AEEAE URARS  USEd TR
(vi) VT AR TR H

2. Woid Y=l 9! 200 vsSid Scik fo@l (RIvdeEl ) [20]

(G) ATl STMHEA= ROl T .

(i) Fo1 TaUUANTA T @

(iii) o1 foq YRocudia 99& 9.

(jv) ArgeArE= Afad 9ggdr 9.

3. Welidl YEArEt 400 VISid 3ok foel (HIVER WeR) [20]
(i) A=l SR hHl UGN hIO ST U WA H.

(i) TRl HRO SO U™ W T W R

4. deFa four fog (FoEE ww®) [20]
G) Hfsm vt
Gi) o= gRaT

(iii) %2 wHT e

(Gv) feEEA 9dd HE
(v) ETE

(vi) YO SFFTTATYA.
[5201]-1016 3 P.T.O.



(G-1

[5201]-1016

: Indian Economy-Problems and Prospects)

Time : Three Hours Maximum Marks

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four)

(1) State
(i) State
(iti) State
(lv) State
(v)  State
(vi) State

the

the

the

the

the

the

concept of Per Capita Income.
problem of overpopulation.

causes of poverty.

concept of Information Technology.
objectives of 11th Five Year Plan.

measures of Social Security in India.

2. Answer the following questions in 200 words each (any two)

(i) State the major issues of Development in India.

: 80

: [20]

: [20]

(ii) Explain the theory of demographic transition of population.

(iiz) Explain the problems of Large Scale Industry in India.

(iv) State the objectives of 12th Five Year Plan.

[6201]-1016



3. Answer the following questions in 400 words (any one) : [20]
(i) Explain the sources of agriculture finance.

(ii) Explain the salient features of Economy of Maharashtra.

4. Write notes in 100 words each (any four) : [20]
(i) Developing Economy
(ii) Density of Population
(iiz1) Types of unemployment
(tv) Globalization
(v) Industrial Dispute

(vi) Planning.

(W& wUIw)
9@ : dF A THUT TOT : 80
g :— (i) Wd WA diefau ofewds S
(i) oEIHerd 3Tk YA Ui o geifadm.

(iii) USHEIES Tes TUSH ULAUAR] TRE.

1. Eefid 9=l 9! 100 IS 3ai gl (gt 9r) [20]

-

() <ErRE IOANET HHheddl HrT.

(i) SAfafed crehae=l Hehoddl T

(iii) TIEA=T RO 9AT.
[5201]-1016 5 P.T.O.



(Gv) Wifedt doRETT GoheUdl 9T

[aXe N (a

(v) 11 gEdIte  deHet SfEse T

(vi) YRANA TS ATads SaF |ATL

2. Woid Y=l YS! 200 VsSid Scik fo@l (RIvdEl ) [20]

(i) wRde foshEN 9@ qge .

(ii) REEdEn ‘deEEn 9wAu fggr’’ e h.

(iii) YRAIA WIS SUNm=al TS W &

NN

(Gv) 12 Y= difter dreHEl Sfesed 9.

3. Weiid Y 400 V&M Sai ol (HIodel ueh) [20]

(i) Ffu foxgEca AR W &
(i) TRNS= Adaed=t Y@ afitl W &l

4. YA&! 100 vd few fomr (Fo@mE 9w®) [20]
() fomusia stedemaren

(ii) TRUEHH U

(iti) <IREA
(iv) SINTfdehTeRTl
(v) SRR FHae
(vi) TS

[56201]-1016 6



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

- [5201]-1017

F.Y. B.A. EXAMINATION, 2017
POLITICAL SCIENCE
G-1 : Indian Government and Politics
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(i)  Composition of Constituent Assembly
(i1) Right to Freedom of Religion
(iti) Features of Parliamentary Government
(iv) Election Commission
(v)  Chief Minister

(vi) Finance Commission.

2. Attempt any fwo questions (in 200 words each) : [20]
(i) Explain the Fundamental Rights of Indian Constitution.
(i1) Explain the features of Indian Federal System.
(iit) Explain structure, power and functions of Supreme Court.

(iv) Discuss the features of party system in India.

P.T.O.



3. Attempt any one question (in 400 words) : [20]
(i) Explain the salient features of Indian Constitution.

(i1) Explain the composition, powers and functions of Lok Sabha.

4. Write short notes on (any four) : [20]
(i) Right to equality
(i1) Preamble
(iii) Role of Governor
(iv) Attorney General of India
(v) Caste and Politics

(vi) Significance of Regionalism.

(WS wuiaw)
9% : 9 q™ THUT TOT : 80
g :— (i) W U Hiefau ofends s
(i) woESE st g o eifeEm.
(iii) TG oo TUST YYAUlAH] URTE.

1. Geiadesl HvhE a) Y99 Gear (Y& 100 IR [20]
(i) o GiHd=l @A
(i) nfer Tard=ATEn SAfHER
(i) HHSE IEATE e

(jv) THIETw &AM
(v) H&A Tl
(vi) Taa smam

[6201]-1017 2



2. Welads! HUE &M Y99 dedl (Y&@ 200 ) [20]
(i) ARG TSEEdid HAYd TRk TR
(i) YRdE guUsarE g s &
(iii) WTal=a —EeEEl @A, AfMER 9 wE W &

(jv) YRAIA YISl af¥mer=l == &

3. Weladysl HUMAREN Uk Y99 dedl (400 IE) [20]
(i) YRdE TsEeq=t Afirse Tase &

(Gi) HEN= WA, AfYeR, FE W FHA.

4. dgedd foa fo@ (SR |\mw) e [20]
(i) HHJE TR
(zz) 9E™

(iii) ToAqTATEl e
(iv) HETAERET

(v) TG AT SRR

(vi) TEIERN Hed.

[6201]-1017 3 P.T.O.



[5201]-1017

G-1 : Modern Indian Political Thought
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(i) Mahatma Phule’s critique on Brahminism.
(ii) Explain the views of Lokmanya Tilak on Nationalism.
(iiz) Dr. Ambedkar’s views on caste system.
(iv) Ranade’s views on Liberalism.
(v) Abul Kalam Azad’s views on Nationalism.

(vi) Savarkar’s views on Religion.

2. Attempt any two questions (in 200 words each) : [20]
(i) Explain M. G. Ranade’s views on Poverty of India.
(ii) Explain M. N. Roy’s views on Radical Humanism.
(iii) Explain Mahatma Phule’s views on women.

(iv) Explain Tilak’s views on Swarajya.

3. Attempt any one question (in 400 words) : [20]
(i) Explain Gandhi’s techniques of Satyagraha.

(ii) Explain Mahatma Phule’s views on Radical Liberalism.

[6201]-1017 4



4.  Write short notes on (any four) : [20]
(i) Mahatma Gandhi’s concept of Ahimsa.
(ii) Dr. Ambedkar’s thoughts on Social Democracy.

(iiz) M. N. Roy’s understanding and critique of Indian National

Movement.
(zv) V. D. Savarkar’s views on Hindutva.

(v) Phule’s views on Emancipation of Shudra-Atishudra and

Woman.

(vi) Tilak’s Doctrine of Loksangraha.

(WS T UIT)
9% : 9 a™ THUT TOT : 80
oM :— (1) Wd YA defau ofevds o).
(ii) 3SElheld &k TRAE U U SRifaam.

(iii) TRUER oo TUST YTAUlAH TRTE.

1. Wdysl Hivhel IR 999 Giedar (YR 100 I8d) [20]

N

(i) HEIH Toidl SMgugEGeRia  SIehl.

(i) kA feosh Fr=n UsgARfITEE  gfedH.

(iii) Sf. JOHRd AeeHl AP ey dedd faar.

Gv) TEe I SSRHAARE.

(v) AIA HAM TG I™ TAROEISH =R,

(vi) Heehi=l  gHfauges  faar.

[6201]-1017 5 P.T.O.



2. WdUsh! hIvdel B Y99 @rear (IA%! 200 ) [20]
(i) HeRY Tifde TS A HRAM Srigarasd fa=ur s .
(i) TH TA. W 99 e AHadeREad faer s .

({ii) WIHT |l A SHHKATOSTh gcehd TIE h.

Gv) Tezwa Twreafasmes foamr T &9

3. WClicish! HIUARI Teh U1 Hieal (400 ¥=@) : [20]
(i) TS EmRET 93 s Hw
(i) WeIHl ol I HoRTH! SAREdeR! faeR TS &

4., dieHE feur fag (@R 9w) [20]
(i) ¥ TS AfeH Hehea
(i) Tl ToEHUd e dhemel dad fomr
(i) TH. TA. U9 I 9IRAE UK Fodc aeordl guel  SATfur gHten

~*

(v) fa. <. wEREw fega fo=R

(v) THAW IFMRE d E@E=n [gurREaH faur

(vi) TexhE dREURM do.

[6201]-1017 6



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

- [5201]-1018

F.Y. B.A. EXAMINATION, 2017
HISTORY
[G-1 : Chhatrapati Shivaji and His Times (1630-1707)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i)  State the historical contribution of Saint Eknath.
(ii) Explain the term of ‘Guerrilla Warfare’.
(iiz) Explain the Chh. Sambhaji’s relation with Portuguese.
(tv) Write the achievements of Maharani Tarabai.
(v) Discuss the religious life during Maratha Period.

(vi) Explain the fort administration under Chh. Shivaji.

2. Answer the following questions in 200 words each (any two) :[20]
(i) Describe the sources written by Foreign Travellers.

(ii) Discuss the role of Chh. Rajaram in Maratha War of

Independence.

P.T.O.



(iiz) Explain the position of women under Maratha Period.

(iv) Write the nature of trade and commerce in times of Chh.
Shivaji.

3. Answer any one of the following questions in 400 words : [20]
(i) Explain the causes and consequences of sack of Surat.

(i1) Write an account of evaluation of Chh. Sambhaji in Maratha
history.

4, Write short notes on (any four) : [20]
(1)  Sardeshmukhi
(i1) Provincial Administration under Chh. Shivaji
(iii) Relation of Chh. Shivaji with British
(iv) Ramchandrapant Amatya
(v) Got Sabha

(vi) Land Revenue System.

(TS waiaw)
9@ : dF A THUT T : 80
el :— (i) W|d WA Grefau ofevas e
(i) SSElHeSld 3k TRAE YU U gEifaan.
(iii) TRUER oo TUST YTAUlAH TRTET.

1. @i 93T S et 100 IS a8l (Sl 9r) . [20]
(i) Hd ThTgET Ufderfas st @

(i) ‘T e’ § e . T &AL

[6201]-1018 2



(i) BAYA FASH FERSTE UGATSToREE od T H.
(jv) HENUN AREEH wEAY  for@r
(v) UUSHIGE s Searn == &4

(vi) TeEwri feea YA T &1L

2. Weid YAl IW YHRl 200 vead ol (HIUE qE) [20]
(i) W gewiH fafeoed wWeE do ®w.
(i) TFA9A TIRH FENSTE FISH= WiaA gEdd et == .

(iii) WUSHhIe ToEm=T uREeldl T .

Gv) Towr =IUR-s<He @Wey  fowl

3. Weld SR Ueh Y9 SW 400 =g fowr . [20]

(i) YW@ TErE FRU 9 URUM T HK.

(i) TSI SfagENel SAYdl GHST HERST JedHad=n g Tl

4. wgw foo fomr (Fo@E 9®) [20]
(i)  EeRHEl
(ii) TeEwEitT it gemed
(iii) saact e fafesiadions d@au

(jv) THEGUd  ATHIA

(v) TG FH
(vi) SHA-FEHA Tl
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

- [5201]-1019

F.Y. B.A. EXAMINATION, 2017
ANTHROPOLOGY
G-I : Introduction to Social and Cultural Anthropology
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words

each : [20]
(i) State the uses of White Magic.

(i) Write down the characteristics of Tribal Law.

(iit) Explain the elements of Culture.

(iv) Describe the concept of Property.

(v)  Describe the various functions of family.

(vi) What are the formal means of social control among Tribal

Society ?

P.T.O.



2. Answer any two of the following questions in 200 words

each : [20]
(i) Describe the four stages of Tribal Economy.

(ii) Explain the various characteristics of culture.

(iti) Write the importance of Bhagat in tribal life.

(fv) Describe the various ways of acquiring mates in tribal

society.

3. Answer any one of the following questions in 400 words

each : [20]
(i) Describe the nature and scope of Anthropology.

(ii) Explain the nature of Law and Justice among Adivasis.

4. Write short notes on any four of the following : [20]
(i) Ape Man
(i) Head Man
(iiz) Shifting Cultivation
(iv) Divorce in Tribals
(v)  Couvade

(vi) Anthropology and Sociology.

[6201]-1019 2



(W& wdiav)
9% : 9 a™ THUT TOT : 80
ol :— (i) Wd UYT Hiefau Aewds SR
(ii) SSEleld 3 YU 0 SRiferr.
(iii) TRUEE T TUSH Ued ufAeRt gEre.

1. Sciid SR IR 99El St Il 100 vseqdd fo@r [20]
(i) WA SgE S G
(Gi) onfeardt wrEeT=r dfySed T

(iii) TpdE Teh TR HA.

(Gv) HU<d=l Heheqdr fave .
(v) HeaEt fafay & T A

(vi) oTfeardl HHETAG TSR o=t Sfa=mris S0 hiodl
3R

2. WA HOAR G AT IW YR 200 I fo-t [20]
(i)  STicerdl SAAHTEI=A AR kA= FUA .
(ii) wepdeEn fafay afrs = #.
(iii) ‘WA’ Al Sl Heed  forel
(jv) offqarlt FANE 9y Huearen fafay ggdt fave wa.

[6201]-1019 3 P.T.O.



3. Wi HIUAR Tkl Y™ SR 400 I=iodd for [20]
(i) HHAGRTS™ ey o =l fage &,
(ji) offcardl HaNdid ®EEl 9 FEeHE WeY T Hd.

4. EClld AR FReR e foar foamr [20]
(1) TI HEd
(i) UM TG
(iii) TFQTARIT Tl
(iv) offcerdl #Afe sTEne
(v) FEYEfaA

(vi) WHARTES 37T THTSIINE.

[6201]-1019 4



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat
No. [5201]-1020
F.Y. B.A. EXAMINATION, 2017
G-I : GEOGRAPHY
Gg-110 : Elements of Geomorphology
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — (i) All questions are compulsory.
(it) Figures to the right indicate full marks.
(iit) Draw neat diagrams wherever necessary.
(iv) Use of map stencil is allowed.
1. Answer in 20 words each (any ten) : [20]
(i) Write any fwo branches of Physical Geography.
(i1) What is Latitude ?
(iii) What is local time ?
(iv) What is ‘Gutenberg discontinuity’ ?
(v) Write the names of any fwo major plates of the Earth.
(vi) What is sedimentary rock ?
(vii) What is folding ?
(viii) What is mechanical weathering ?
(ix) What is landslide ?

(x) Define concave slope.

P.T.O.



(xi) What is flood ?
(xii) Write any two methods of watershed management.
(xiit) Write any two landforms which are surrounded by your

area.

2. Answer in 50 words each (any two) : [10]
(i) Nature of Geomorphology.
(ii) Shape and size of the Earth.
(iiz) Hydrological cycle.

(iv) Consequences of ‘Tsunami’.

3. Answer in 150 words each (any two) : [20]
(i)  Write the evidences of continental drift theory.
(ii) Explain the formation and types of the sedimentary rock.
(itzi) Write in detail chemical weathering.

(iv) Write in detail soil degradation.

4. Answer in 300 words each (any two) : [30]
(i) Explain the interior of the Earth with diagram.
(i1) Define earthquake and explain its causes.
(iti) Describe the erosional landforms of river with diagrams.
(iv) Elaborate the application of applied geomorphology in resource

evaluation.

[6201]-1020 2



(W& wUIw)
q% : || A THUT TOT : 80
oAl :— (i) W& WA Uefam oeras e
(ii) 3Selhel® & qO IO SFifodm.
(iii) STEvIsh d9 Yook 3ThHcAl Il
(iv) THRN LfEd aTogE el .
(v) TEUEE Yoo TUST YTAUCAHT TRIET.

1. Yl 20 v=Sd SN fagr (FoaeEl <@1) [20]

(i) Uhfask A= HIvEE | e foE.

(ii) AT WS HE ?

(iii) T 9@ WS ®E ?

(iv) ‘Teer faarar’ wUS w @ ?

(v) YT FUER W Y@ YugrEt A fore.

(vi) VA Weh WIS &M@ ?

(vii) AR TS & ?
(viii) PIIH ORI =S &EF  ?
(ix) 9O WU wE ?

(x) 3Idde A=l aren fawn

(xi) T WIS HE ?
(xii) YOGS SFHOEAIATT SR &M UGdl  foTal
(xiii) T FEer=al WIS Hivdel g gy ferel

[6201]-1020 3 P.T.O.




2, T 50 V[ SW @ (e gF) [10]
(i) YEWETEE ey
(i) gea=l SRR ST SRl
(iii) SieT=sh.

(iv) R o

3.  TYHl 150 VEid IW TRl (FaE gF) e [20]
(i) wedgd fagae e foe.

(i) TWia WewrE A 9 yerR Gfowx fa=n

(iii) TOEe. fogror gfaex forsn

(jv) Yere™ HfawX foml

4, YIH 300 VM SW @ (FvmE @) [30]

(i) Y™ HAAWT AFdHE TR HA.

(ii) Ul AT WA AT SR T A

(iii) = TTREIe fHU FOR YSR AHaEs avd &

(jv) WYAEIRT HoIAd A foRd=n ST YERTETda SwsH  foaeg

<h .
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Total No. of Questions—7+6+5] [Total No. of Printed Pages—5

Seat

No. [5201]'1021

F.Y. BAA. EXAMINATION, 2017
MUSIC
Tia | (Si-1)
(2013 PATTERN)

faftre gomT : — o WENE WEIE TEE, 9aR, q96 91 9| Ul queET
faoam=ft =oTdE T gvubeRT digan.

T it A
9% : 1 a™ 30 fufe THUT TOT : 20
o :— () ufgenm U Hiefou e TR
(ii) AR TEAUH! HIUCE G S THU TR YA HrEdl
(iii) | UMl Yol 5 AYH FAM IO SRA

1. 31 o= S{ATHR AT IV ekt T Siedl T (HEad/gaad)

e h.

2. 39 fwar W@ IS FIER! Tl W GfowR wEE wifedt o

3. TUOUR! HIVAR ekl drarEl €Ul InefE mifedt @ o@ fomn

() A (Fare)

(i) ®Ih
(fv) <RU
P.T.O.



4., EAdUs! SR U Al fogl

(1) e
(1) "=
(iii) ST
(iv) ThS
(v) T
(vi) a8 TR
(vii) IRl TR
5. fem fom (o )
(i) TR ToEd
(i) T S

(iii) F@® 9 HEHRE TSI
(iv) =

6. fEu fom (FVERl TEw)
(i) % Ed
(i) Gfa smfor AFE Sftem

(iii) TR A=A gl

o~

7. G fa@ (@R Tw)
(@) RENETY
(ii) 9. fooup fomeR dqeRe
(iii) 9. fao] AREO wAEe
Y. SR SR

d.

(tv)
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[5201]-1021

d% : 1 a™ 30 fufe THUT TOT : 20
ol :— (i) ufgem ued diefaw sifed e
(i) ARA UTAUHRI FUGE dF S THU AR YA e
(iii) ¥ YA YOR! 5 AYAN TEE O S

1. 1 Iofl=a AAERAGA HIVAR! TRl IEMMAIA  SE Td TeRfadles
.

2. I IUlSAl SAEHAC hIUAE TehT W= Gl IMSHA Aifedt forgd wI-
forer ferer.

3. TUF INUAT IR AMh! FHIVARI Tkl drc=l Hifgdl oS dreered .

4. fow fam (o )
() H4d
(ii) wiEqE™ T
(iii) 9R-T Hhedl
(iv) TSl T

(v) 3T

AMEEAY e

5. I N1 ISR UCIA HIVAE! Tkl TR Hififde dreE  fave

<h .
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6. TEGUS! HIUAE Wenl fosamer wfowr faer

() TEAEA Ygdl
(ii) 9@ afifeI
(i) ™ Ukcet e
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[5201]-1021

a% : 1 a\ 30 fufe THUT TOT : 20
g :— (i) ufeenm gy wefau sAfer s
(i) ARG UTAUHRI FIUGE dF S THU WX YA HrEdn
(iii) @S YA YARl 5 AYHN FAM O S

1. TR foRar & AUHT FIAR Tkl qar=l {90 Weig Afed! forgd e

Sl THUSA & guld forar.

2. oA« storam Audemed Yde! ek HEe! 9 foew fom

3. fou famr (=@l dF) -
() foer
(i) I d TIIDRR
(ziz) <TA
(lv)
4. YR FUEE T foEer dfawr famr e

() 3Aodg d™
(ii) decgrea aueEr e g

5. 3. UGS foReRdl Steram 3. Tfogfed @i Aden! HIVE Ukl delclaGdhle

IfGTcHs Ae  foer

[5201]-1021 5



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5201]-1022

Time :

N.B. —

F.Y. B.A. EXAMINATION, 2017
PUBLIC ADMINISTRATION
(Principles of Public Administration)

(2013 PATTERN)

Three Hours Maximum Marks : 80

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any four questions of the following (in 100 words

each) : [20]

(1) Explain the similarity between Public Administration and
Private Administration.

(2) Discuss the bases of Department.

(3) Discuss the role of Chief Executive.

(4) Explain the merits and demerits of methods of Recruitment.

(5) Budget — Meaning and Importance.

(6) State various features of Bureaucracy.

2. Attempt any two questions of the following (in 200 words
each) : [20]

(D)
(2)

Explain the scope (POSDCORB) of Public Administration.

State the meaning of Leadership. Explain the functions of

Leadership.

P.T.O.



(3) What is promotion ? State the benefits of Promotion.

(4) Explain the types of Budgets.

3. Attempt any one question of the following (in 400 words) : [20]
(1)  What is Training ? Explain the objectives, types and methods
of training.

(2) Discuss the causes for the growth of Administrative Tribunals.

4, Write short notes on (any four) : [20]
(1) Principles of Promotion
(2) Approach of Leadership
(3) Modern approach of Public Administration
(4)  Decision-making
(5) Concept of administrative accountability

(6) Importance of Administrative Tribunals.

(W& T UI)
% : W q™ THUT TOT : 80
T — (i) ¥ WA gefau e o).
(ii) SSEhel® & Y= qU U e

1. WOoUhl HIUdE =X 999 d@ieal (Yot 100 I=<M) [20]

(1) <IYemET 9 Werl Y99 Idia 9/ W2 6.
(2) U=l ==
[56201]-1022 2



<

(3) H&A wMiuwrar=Al =t == w0
(4) WRden Ugden TU-geTE d= .
(5) SRETE — 1 T HE@.

(6) FrwmerEr fafay St @

2. WE@UD DA G YT diear (YIHT 200 VK@) [20]
(1) YT AW (dReShls) T &
(2) FAg@mT ¥ WRM, gl hEd TR S
(3) Wedl WUN ®HE ? d&did ®Ee WAL

(4) IRNUARE YhR TR &

3. WPGUH! HIUARI Tk YA Weal (400 VEM@) [20]
(1) wfeor ®osl &I ? Uireome Sfes, yeR oAU ugdt T .
(2) UIMHHIT IEIYROTA ded hRomet 9= .

4. deF@ four fog (AR 9w) [20]
(1) wedr=r aw
(2) AgomEd™ gfesm
(3) TRYRTHATET SAYE gl
(4) frofa fauio
(5) TUNTEHRT I  Ghodl
(6) TRIMEHE —RIESHOME A<,

[5201]-1022 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

- [5201]-1023

F.Y. B.A. EXAMINATION, 2017
PSYCHOLOGY
G-1 : General Psychology
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(itzi) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any

four) : [20]
(i) Explain the introspection method.

(ii) What is meant by span of Attention ?

(izi) State the need of Hierarchy theory.

(fv) What is forgetting ?

(v) State the stages of mind.

(vi) What is giftedness ?

P.T.O.



Answer the following questions in 200 words each (any

two) : [20]

(i) Describe the various perpectives in Psychology.

(i1) Define conflicts. Discuss the types of conflicts.

(iit) What is conditioning ? Explain the characteristics of classical
conditioning.

(iv) Describe the misconceptions of personality.

Answer the following questions in 400 words (any one) : [20]

(i) Explain the functions of Glandular system.

(ii) Define emotion. Explain the various theories of emotion.

Write short notes on (any four) : [20]

(i) Career Avenues in psychology

(ii) Perceptual constancy

(itzi) Motivational cycle

(iv) Problem solving

(v)  Projective techniques

(vi) Decision-making.

[6201]-1023



(WS wUiaR)
9% : 9 q™ THUT TOT : 80

ol :— (i) W T Grefau Aevds .
(ii) SSeIHkeld 3k U U Yo

(iii) STevds @ okt ok ke wIal.

(jv) TSHMEIS Tov IUSH YITULAHT TRE.

1. Wdishl HUER 9) 9=l S gddt 100 vegid foawr . [20]
(i)  STHMUO Ugdl TS H.

(ii) AAYM HeN WIS HEIA 2

(iii) TR TEEIU "L
(Gv) foore w|/oN & ?
(v) A WX O

(vi) oTChI® FSHW TUS HEF 2

2.  Welcueh! HITER! G WA=t St U 200 Vi fo@r [20]
(i) HAERTET™ fafay geeH gfawr e &
(i) TEEE R GEN. Guuiedl YhEr w€l 6.
(iii) vy =S @@ 7 ifvea efvygamrEt Aftrew fomn
(jv) FEFATE TREASA IfoR T 6.

3. Wil SIUE TeRl U¥TE SW 400 ¥ forar [20]

() gt =l wE wiawR e .

(i) WETEl e WE WeHw fafaw fagia T &

[6201]-1023 3 P.T.O.



4, WAAUR! HITAR TR diesrmaa fear faqr . [20]

(2) HESTEAT  hReT= T
(i) GogtHe  fera

(iii) OIUcHS <%h

(jv) I TER
(v) TH&YU 9
(vi) Tl wfe=m
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

. [5201]-1024

F.Y. B.A. EXAMINATION, 2017
GANDHIAN THOUGHT
(G-1 : Introduction to Gandhian Thought)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i) Describe briefly Gandhiji’s role as a political leader.
(ii) Explain the Gandhiji’'s idea of Non-co-operation.
(itzi) Explain briefly Gandhiji’'s Champaranya Satyagraha.
(iv) Briefly illustrate Gandhiji’s idea of Truth.
(v) Briefly illustrate Gandhiji’s idea of Fearlessness.

(vi) Explain the Impact of Ruskin on Gandhiji.

2. Answer the following questions in 200 words each (any two) :[20]

(i)  Bring out the importance of Gandhiji’s doctrine of Ekadashvrata.

P.T.O.



(i1) Explain and critically evaluate Gandhiji’s doctrine of Sarvodaya.
(iiz1) Gandhiji : A Social Reformer. Explain it.

(iv) Explain the importance of Gandhiji's ‘Sarvadharmasamabhava’.

3. Answer the following questions in 400 words each (any one) : [20]
(i)  Bring out the characteristics of satyagrahi according to Gandhiji.

(ii) Explain and bring out the importance of Gandhiji’s idea of

ideal society (Ramrajya).

4, Write short notes on (any four) : [20]
(i) Gandhiji : A Spiritual Revolutionary
(ii) Gandhiji’s Dandi-Yatra
(izi) Civil Disobedience : A way of Satyagraha
(iv) Tolstoy’s Impact on Gandhiji
(v)  Gandhiji’s Concept of Religion

(vi) Impact of Bhagwadagita on Gandhiji.

(TS wUiaY)
9% : 9 a™ THUT TOT : 80

o :— (i) Wd WA Hiefau ofeds R
(i) SEEEA s gl o it
(iii) TEIEE oo TUST YYAUlAHT URTE.
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1. Efd el SWOYs 100 i feRl (hivad W) [20]
(i) TUH UTShE Ad =UE Welsi=n qfied diedd oo H.

(ii) TSl STH8hR B Hehoddl TS .

(iii) TSI 9URUY HAWE S TR &

Gv) TS ‘T Hhouad diedld fasur &L
(v) TS fAYFa=l 9oheq e oo &
(i) TNHSTed HITAT 9 TR H.

2. Wi gl W Yokl 200 YIS fagr (RIvdEl @) e [20]

(i) ST ‘TeRyEd’ g Wed fawe @

(i) TeRsi=a wafga fagra e w61 @< fafews goadams

ER

(i) ST : TH FHSYYIRG, T HI

(Gv) TEST=N EYHEHYE Hhoddd Heel W &

3. Tl YT 3W 400 ¥ fofel (FIUEAE Teh) [20]
(i)  EST= AAER ey HemEE aftre fave wa.
(i) TS AR FEN (TRSE) Hheddl W ®ed fad mea fave

.

[6201]-1024 3 P.T.O.



4, dJedd foa fo@ (SR |mw) [20]
(1) TS ;. Uk SMEANHS  HiIdhReh
(i) TeSH=l STel A

(jii) TfOTT HERYT : IIWERT Th Al

Gv) TS STaefE=r gu9e
(v) TSI THETHTT
(vi) TSR TaTa=T  JHE.

[6201]-1024 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

. [5201]-1025

F.Y. B.A. EXAMINATION, 2017
YOGA
General Paper I
(Yogvidya)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one of the following questions in 50 words : [5]
(i) State the importance of Meditation.

(it) State the importance of vrukshasan

2. Write short notes on (any fwo) : [10]
(i) Dhanurasan
(i1) Dharana
(iiz) Bhastrika pranayam

(zv) Utkatasana.

P.T.O.



3. Answer any fwo questions from the following in 200 to 250 words

each : [15]
(i) Explain the Rajyoga
(ii) State the importance of Dhyandharana

(iii) Importance of Pratyahar.

4., Attempt any one question in detail : [10]

(i) State the definition and nature of Yoga. Explain the types
of Yoga.

(i1) Explain in detail the importance of Yam, Niyam in moral behaviour.

(TS TUTaR)
d9% : aF A" THUT TUT : 40
ol :— (i) Wd WA GEfau SeRed SR
(i) 3SReld 31 qui U SRifadn.

(iii) TG oo TUST YYAUlAHT URTE.

1. Grciadys! HIEE TR 50 &M TIRIH =1 [5]
(i) SFNE HES "W
(i) JHAEAE HEA G

[6201]-1025 2



2. deR@ fou T (R g9) [10]
(i)  EgeEd
(i) &Rom
(iii) YfSIRT gIomEH

(fv) ScheEH.

3. Woildideh! SRl SF Y9 Yot 200 9 250 VS SWi < : [15]

(() TSENT TS &

(ji) SAHYRUE Hecd  9rT

(iii) YRR Hee 9.

4. EAUR! HUAE TRl T IfaER WS [10]

(i) IFTER FReAl, WEY 9rE anmen fafay gomel T .
(i) Hfds oda 9w, e Tew afo® w= w4

[5201]-1025 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat
No.

F.Y. B.A. EXAMINATION, 2017
HISTORY OF CIVILIZATION
General Paper 1
Cultural History of Maharashtra (Upto 13th Century)
(2013 PATTERN)
Time : Three Hours Maximum Marks
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each
four)
(i)  Write about the Mahanubhav Sect.
(ii) State history and meaning of the word Maharashtra.
(iiz) Write the scope of Civilization.
(iv) What do you know about proto-history ?
(v) Write in short about Vakatak dynasty.

(vi) State position of women in Medieval Maharashtra.

[5201]-1026

: 80

(any
[20]

P.T.O.



2. Answer the following questions in 200 words each (any

two) : [20]

(i)  Discuss Marathi literature with reference to Jotish Ratnamala,

Lilacharitra and Viveksindu.
(1) Give an account of internal trade in Maharashtra.
(iti) Discuss the economic life of Rashtrakuta period.

(zv) Discuss the ancient caves architecture in Maharashtra.

3. Answer any one of the following questions in 400 words : [20]

(i) Explain the term civilization and describe the salient features

of ancient civilization of Maharashtra.

(ii) Explain the achievements of the Yadavas of Devgiri in the

history of Maharashtra.

4, Write short notes on (any four) : [20]
(i) Nath sect
(it) Temples of Maharashtra
(iiz1) Expansion of Megalithic Culture
(iv) Caste System
(v) Fairs and Festivals

(vi) Gatha Saptasati.

[56201]-1026 2



(TS ®UIM)
q% : i q™ THUT TUT : 80

o — () W WA Hiefdu AewEsd Sed.
(i) ISEIherd 3 YA U IO Seifedm.

1. Wiid Y9 Yt 100 IS S gl (el 9r) . [20]

(i) ey 9USE Arase for

(i) Werrse A visgrEn ord smfor sfagm @

({ii) TEhd=t Al fora
(jv) YMfdErfast qe™ & Wfedt 3] ?
(v) ATPIEH FOIINTTAT dEHa  foral.

(vi) TAFMH HERE S M.

2. Wid YT U@ 200 VS S fa@l (e |@F) [20]
(i) TS Aifecar=a Hevid Sifas Iommen, faemies enfon foomfay At
== H

(i) RIS Sfdid SAIRr=t Hifedt <.

(iii) TTHe H@MA YR Sa=l ==i &

(jv) WENSEMIA Weid oot Tt == .

3. Woiid HUAE Tek 99 400 V&M SW ol [20]
(i) F&dl T Ghoddl TR HA AU YEH FERTIAIA HEhd = 3ooh
afyrsear=n ==l &

(i) W= e Saifii=n JcaEl ®Efl o &

[6201]-1026 3 P.T.O.



4, dJedd four fo@ (SR |mw) [20]
(G) ¥ HYEHE
(i) WIS A

(iii) WETATSU T&hden fawr

(jv) Il oFerEen
(v) U AT I
(vi) TN TCH.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

. [5201]-1027

F.Y. B.A. EXAMINATION, 2017
HOME ECONOMICS
(G-1 : Household and General Economics)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Diagrams must be drawn wherever necessary.

(iti) TFigures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four): [20]
(i) Explain the Basic Economics problems.
(ii) Explain the sources of family income.
(iiz1) Explain the effects of inflation on different income groups.
(iv) Explain the factors which affect decision-making process.
(v) Explain the role of Human Value and Goals in human life.

(vi) Explain the importance of home management.

2. Answer the following questions in 200 words each (any two) :[20]
(i) Explain the difference between Family Budget and Public Budget.
(ii) Explain the functions of money.

(iiz) Explain the elements of interior and exterior home decoration.

(iv) Explain the steps of home management.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]

(i) Explain the Law of Demand with suitable example.

(i) Explain the process of decision-making with suitable example.

4. Write short notes on (any four) : [20]
(i) Features of Economics Law
(it) Types of price elasticity of Demand
(izi) Primary functions of Commerical Banks
(iv) Merits of decision-making
(v) House planning

(vi) Types of Account-keeping.

(TS wUiaw)
9% : 9 q™ THUT TOT : 80
oAl :— (i) W|d WA Hiefau oTevds R
(ii) TEvgh dY Fok AhcAl DI
(iii) oS i qui o geifodm.
(jv) Hedfardt st gyufer were.

1. Wed 9T S Y&l 100 v faer (Fivd 9mw) [20]
(i) Hayd sMYe U TR H

(i) HEfaF I AR TR HA
(iii) wEae™ fafay sO= TeEdd gfom s .
Gv) onfde ol gfrder 9ftome oR Seh T2 .
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(v) TFHEAYed 9 e AEAt Sieda YT TR H

(vi) & HTATA Hd TR H.

2. Wi gl W Yokl 200 ¥eed fa@r (RIvdEl @) e [20]

N e~

(i) hIEfoh STQSYAS ST TeSeh eeUsleh AN Hih TIL H.

Gi) U=l e T &L

(i) a9 dfeid TeOSTeRE Ueh T Al

(jv) T FTLUAMIA Il TR Hh.

3. Tdiid HIUME Teh JH I 400 e @l [20]
(i) HFOET W dRRe W Hid.
(i) onf¥er fAofg goian digeo T &L

4. 9@ foo fag (fodE = W) [20]
G) onfde el SRmsl
(i) HAFOfen foal dafawdd TR
(iii) =M et Wi wE
(jv) offder oM o
) T frEsE
i) Tevm faferars yar.
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Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat
- [5201]-1028
F.Y. B.A. EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
[D.S.—G-1 (A) : Defence Mechanism of India]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)

(2)
(3)
(4)
(5)
(6)

Explain the powers of the President in relation to Armed
forces.

Explain the Rashtriya Rifle.

State the role of Border Security Force.

What is the role of Infantry ?

State the Andaman and Nicobar Command.

Explain the characteristics of Signal Corps.

2. Answer the following questions in 200 words each (any two) : [20]

(1)
(2)
(3)
(4)

Trace the growth of Indian Navy since 1947.
State the characteristics and role of Indian Navy.
Explain the Headquarters of Air force.

What are the characteristics and role of Armoured Corps ?

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain the principles of Defence Organisation.

(2) State the characteristics, role and limitations of Engineers.

4.  Write short notes on (any four) : [20]
(1) Various types of Aircraft
(2)  Army Ordnance Corps
(3) Intelligence Agencies
(4)  Chief of Staff Committee
(6) Coast Guard
(6) Defence Committee of the Cabinet.

(W@ T UI)

9% : 9 q™ THUT TOT : 80
ol :— (i) W U Grefam eavad e
(i) 3SEhel® 3 YU T Feifodm.

1. Tod YRE SW YS! 100 v fael (FoeE |w) [20]
(1) TS IFEaEedia Teude IfeR T &
(2) USNHE [TI%hed T H.
(3) WM &N TA HE HETL
(4) UICeEl ®MH RO ?
(5) M d fHER wHTS G

(6) Tohdedr=l dfye T &

2. WOW YAE SW UEE! 200 V[ fow (PG gH) [20]
(1) 1947 WA 9RdE 0= faemEmEn  sfeEn =i
(2) YRdE Aearet AT F wE EEm

(3) dgHTY &AW T HA

(4) fodEdt <aEr afyse 9 w™ HoEr ?
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3. WO HUAE Uk UvE S 400 K[ fo@r [20]
(1) U Heea<l dcd T2 Rl

(2) zfafier coml afymse, w9 wWaler 9.

4. g feur fagl (HivaEl =) [20]
(1) ATBa ThRE! d@s  foadm

(2)  HT g&ed faum

(3) vEIfIwEe FH

(4) TTeAs gt

(5) TX&TH <A

(6) e HIIHSoEl TIYU HiHdl.
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[D.S.—G-1 (B) : Military Thinkers in 19th Century]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
(5)
(6)

State the military thought of H.V. Moltke.
Explain Schlieffen plan.

State thought of Marshal Foch regarding war.
Explain E.F. Ludendorff’s thought on ‘war’.
State Lenin’s concept of revolutionary war.

Explain General Douhet’s theory of air power.

2.  Answer the following questions in 200 words each (any two) : [20]

(1)
(2)
(3)
(4)

Explain strategic thought of A.H. Jomini.

State thought of Che Guevara about Guerrila Warfare.
Describe Geopolitical thought of K.E. Houshopher.
Explain strategic thought of B.H. Liddle Hart.

3. Answer any one of the following questions in 400 words : [20]

(1)
(2)

[5201]-1028

Describe military thought of Carl Von Clausewitz.
Explain Halford Mackinder’s Heart land theory.
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4, Write short notes on (any four) : [20]
(1) J.F.C. Fuller
(2) A.T. Mahon
(3) Mao Zedong
(4) H.V. Moltke
(5) E.F. Ludendorff
(6) General Douhet.
(TS ®qIR)
9% : A9 A THUT TOT : 80
o :— (i) Td TR Giefau EvdE SR
(i) wodEEe siw g T Sl
(iii) WSS T TUSH WITUCART Tl
1. 9o TeTE W s 100 IR fae (FoeE =9n) [20]
(1) TR Hieesh A= TRy fg9r @i
(2) TIAE®A AT TR H.
(3) TR WM I< JgEadE foER = &
(4) 3ITE TeAeh IE JeEedE faur e &
(5) W wIdie e Hehed l HETL
(6) S g AEl TAR oK@l UG T
2., WA YT SW IR 200 VI ferer (s ) [20]
(1) Tua. <A 9= gmike TER s &
(2) = TR A= A ggugdar ot faer @
(3) @I T AN PR foem fave &
(4) it fosa 38 o= 9@ faR o= =

P.T.O.



3. WA FHUAE Tk Y IR 400 @ fa@r e [20]
(1) el = FASfoes™ aved foear faee .

(2) HfheX =1 wd gt fag W= @

4. derra feqr fogr (Svdel =w®) [20]
(1) S.THEH. HeR
2) TH WH
(3) Wi FeMm
(4) TAR. Hieeh
(5) ZUH. YSIE®
(6) SHRA Tge.
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[D.S.—G-1 (C) : Post-Cold War India’s Security Environment]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State the meaning of Globalization.
(2) Explain the meaning and concept of Human Rights.
(3) What are the effects of Global Warming ?
(4) Explain the nature of terrorism.
(5) What are the characteristics of Emergence of New Economic
Order ?
(6) Explain the structure of W.T.O.

2.  Answer the following questions in 200 words each (any two) : [20]
(1)  Critically evaluate the globalization.
(2) Explain the India’s Internal security challenges.
(3) State the causes of terrorism.

(4) Describe the India’s status in New World Order.

3. Answer any one of the following questions in 400 words : [20]
(1) Explain the various issues of Environment.
(2) Describe the structure, objectives and functions of European

Union.

[6201]-1028 7 P.T.O.



4, Write short notes on (any four) : [20]
(1) Regional Challenges of India’s Security
(2) Counter Insurgency
(3)  Human Security
(4) Objectives of Terrorism
(6) World Trade Organisation (W.T.O.)
(6) National Counter Terrorism Center (N.C.T.C.)

(AE wuiav)
9% : 9 a™ THUT TOT : 80
o — (i) wd TR Hiefau oewad o
(i) 3ISEhSle 3k T YO O gEifaan.

1. WO Yl SW YdE 100 vsia faw (@oeE W) [20]
(1) SITfdehisheom=n 37k ImEm.

(2) UFel THERET AY AU Fehoddl TR HAL

(3) SWIfder TqUHM SErd YRUMH v ?

(4) <TEARH WEY W HA.

(5) FAfaq wmfas onfefer weaed=t afyrew woRr ?

6) fava =MR Huea=i WA W &

2. Wod YIAEl S TSt 200 V<@ fagr (Hivasr 9F) [20]

(1) Sifderteiome fedhredes Joadda &

(2) YRA=AT STdid FREET ST TR &

(8) <EYEAREl HRU HET.

(4) Ffgq i A YRa T fave &
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3. WO HUAE Uk UvE S 400 VK[ fo@r [20]
(1) vaeRum= fafay g1 o= &
(2) AR It @1, 3fese onfn & fave &

4., dewE foo fag (Fo@EE \w®) e [20]
(1) wRdren Qae fawrfa ek
(2) gfdfaera
(3) HEdt HIa&T

(4) TEqaEET 3fEse

(5) Tava =amOR wWEe

6) UXE Tevdare ol .

[5201]-1028 9



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [52011-1029

F.Y. B.A. EXAMINATION, 2017
SOCIAL WORK

(1) Social Reform Movements in India.

(2) Introduction to Social Welfare and Social Services
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [16]
Discuss the welfare services for the disadvantaged sections through

Five Year Plan.

Or
Discuss the efforts of Government for protection of children’s
rights.
2. Answer any one question in 500 words : [16]

State the history of social services in India through post-independence

period.
Or
State the planned provisions for girls education from Maharashtra
State.
3. Answer any one question in 500 words : [16]

Discuss the work of Raja Ram Mohan Roy for Social

Reform.

P.T.O.



Or
State the Social Reform Movement to remove untouchability initiated
by Mahatma Gandhi.

4. Answer any one question in 500 words : [16]
State the objectives and activities of Ramakrishna Mission.
Or

Discuss planned provisions for social services for OBCs in India.

5. Write short notes on any fwo in 200-250 words each : [16]
(a) Social Justice—Concept
(b) Problems of Working Women
(c) Objectives of Sarvodaya Movement

(d) Activities of Prarthana Samaj.

(TS BUTaR)
9% : 9 a™ THUT TOT : 80
oAl :— (i) W Uvd diefau ofewds SR
(ii) ISl ok Yo O SRifer.
(iii) 3TUSH YITUCAS] U FHSE!.

1. YEdUs! HUE TRl WA S 500 v ferer [16]
qeanftier A dfdd SRS STHUTAT hedUhd Jai=l == .
fwar

A=Al TR WY& el M= Yae= == 6.

2. YIAUR! HUAR TR TTE SR 500 ¥ead fomer [16]

WA hIAdid  9rHTfSieh da=n  gfdere 9.
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feRar
RN ATl Hettean  foreomean fAIfS Suctesar |Am.

3. YIAUR! HIUAR TeRl YR IW 500 F=<id fogr [16]
IS, gUROEEd T THHRET T 91 & == &
fepar

7. M segvEd A Eed  Shoen WM GURUT Foded  HETL

4. UIUR! HIVAE TRl YT SW 500 s faar [16]
T faem=l 3fesed @ SuwH 9@
fepar

gRAd  AeEEe Fafsa Suasar=t ==l R

5. AUl IRl QEieR Yol 200-250 IS deea fewr ferer : [16]
(31) WSS AT —Hhed
(9) & HOFA Hiegar=an  Fuen
(%) TECa Tededt 3fewe
(8) W THNTE SUHH.

[5201]-1029 3



Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5201]-1030

F.Y. B.A. EXAMINATION, 2017
MATHEMATICAL STATISTICS
(Discrete Probability and Discrete Probability Distributions)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(z1z1) Use of calculator and statistical tables is allowed.

(iv) Symbols have their usual meanings.

1. Attempt each of the following :
(@) State true or false of the following : [1 each]
(i) An event containing only one element from the sample
space is known as elementary event.
(ii) Independent events are also mutually exclusive events.
(iii) If A and B are independent events then P(AIB) = P(B).
Gv) If P(A) = 0.3 and P(B) = 0.7, then P(A) c P(B).
(b) Choose correct alternative of the following : [1 each]
(i) If X — B(10, 0.7), then mean of X is :
(A) 7
(B) one
(C) two
(D) infinity

P.T.O.



(ii) The value of a discrete random variable (r.v.) with maximum
probability is known as :
(A) mode
(B) median
(C) mean
(D) variance
(iiz) The covariance between two independent discrete r.v.s.
is
(A) zero
(B) ten
(C) negative
(D) not exist
(iv) If A and B are two independent events of Q with P(A)
= 0.3 and P(B) = 0.8, then P(A U B) is :
(A) 0.11
(B) 0.24
(C) 0.86

(D) 1

[6201]-1030 2
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(¢c) Answer in brief of the following : [2 each]
(i) State axioms of probability.
(ii) Define mutual independence of three events.
(iiz) If X is Poisson r.v. with P(X = 1) = P(X = 2), then compute
PX > 1).
(iv) Write the sample space for tossing of three coins at a
time.
2. Attempt any four of the following : [4x4=16]
(a) Define cumulative distribution function of a discrete r.v. State
any three properties of it.
(b) A discrete r.v. X takes values 1, 2, 3, .......... n with equal
probabilities. If the ratio of variance to mean of X is 4, find
the value of n.
(c) A pair of fair dice is thrown. Find the probability of getting
sum of upper faces at least 10.
(d) Let X be a discrete r.v. with probability distribution as given

below :

PIX = «]

0.3
0.4
0.2

w N = O M

0.1

Compute P[X > 1] and P[0 < X < 2].

3 P.T.O.



(e)  Obtain the CGF of Poisson distribution with parameter ‘m’ and
hence show that all cumulants of it are equal.
(/) With usual notations, prove that :
EX +Y) = EX) + EX).

3. Attempt any four of the following : [4x4=16]

(a) Explain the ideas of deterministic and non-deterministic
models.

(b) State and prove additive property of moment generating function
(mgf) of a discrete r.v.

(¢c) A box contain seven items of which three are defective. A
random sample of three items is drawn from given box by
without replacement at a time. Find the probability of getting
exactly two non-defective items.

(d) Obtain the mean of geometric r.v. with parameter ‘p’.

(e) Verify the independence of bivariate discrete r.v.s. whose joint

probability distribution is given below :

Y
1 | 2
X
-1 A8 | .42
1 12 .28

(f) State probability mass function (pmf) of negative binomial

distribution. Also, state its mean and variance.

[6201]-1030 4



4, Attempt any fwo of the following : [2x8=16]
(a) State and prove Bayes theorem.
(b) Let(X,Y) be bivariate discrete r.v. with joint probability distribution

as below :
Y
-110 1
X

1 2 [.15].05

2 12 1.08 | .1

3 07 |.18 | .05
Find :
(i) The conditional probability distribution of X given Y = 0.
(ii) The conditional probability distribution of Y given X = 1.

(¢) () Let A and B be two events of Q such that P(A) = 0.3,
PB) = 0.7 and P(A U B) = 0.8, then compute P(AIB)
and P(ACI|B).

(i) Obtain the mean and variance of Bernoulli distribution.

(d) Prove the binomial approximation to hypergeometric distribution,

state your assumptions if any.

5. Attempt any one of the following : [1x16=16]
(@) (i) State and prove additive property of binomial distribution.
(i1) A pair of fair dice is thrown. Discuss the independence
of the following three events :
A : even face appears on first die,
B : even face appears on second die,

C : sum of upper faces equals even.

[6201]-1030 5 P.T.O.



(b) () If X and Y are two independent Poisson discrete r.v.s.
with parameters m,; and m, respectively. Obtain the
conditional probability distribution of X given X + Y =
n, where ‘n’ be any non-negative integer.

(i) Let (X, Y) be bivariate discrete r.v. with joint probability
distribution as below :

Y
01 ] 2
X
-1 151.2 |.05
0 d .18 1.12
1 05] .1 .05

Compute E[2X + 3Y] and E[X*Y].

[6201]-1030 6



Total No. of Questions—6] [Total No. of Printed Pages—5

Seat

- [5201]-1031

F.Y. B.A. EXAMINATION, 2017
OPTIONAL ENGLISH
General Paper-I
Text : Interface (English Literature and Language)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in about 70 words each

(any three) : [12]

(a) How does Kalam interpret the incident when he got a beating

from his father ?

(b) “The time has come for us to consider seriously the question
of a ‘Bharath brand of English”. Comment with reference to

‘Toasted English’.

(¢) How does O Henry build up the atmosphere of an extremely

busy office of a stock broker in “The Romance of a Busy Broker’ ?

P.T.O.



(d)

(e)

2. (a)

(b)

[6201]-1031

Draw a character sketch of the father in the short story
‘A Day’s Wait’.
How is the absentmindedness of Mr. Maxwell brought to our

Views.

Answer the following questions in about 70 words each (any

three) : [12]

(i) How does ‘Sonnet 29’ celebrate the presence of love in

the poet’s life ?

(ii) Explain the symbols used by the poet in ‘The World is

too much with us’.

(iii) Write a note on the mysterious atmosphere in the poem

‘The Listeners’.

(iv) Bring out the significance of the title of the poem ‘No

Men are Foreign’ in view of the present context.
(v) Discuss ‘The Listeners’ as a poem of magic realism.
Write short notes on the following (any fwo) : [6]
(i) Symbolic nature of Human Language
(i1) Creativity and Productivity of Human Language
(iiz) Phatic function of language

(iv) Informative function of language.



two) :

(@)

(b)

(c)

(d)

(any

(@)

(b)

(c)

(d)

[5201]-1031

Answer the following questions in about 100 words each (any

[12]

What lesson does the humble clerk learn from the Indian film

industry ? How ?

Explain Chinua Achebe’s exploration of complexities of human

relationships in ‘Marriage is a Private Affair’.
Comment on the title of the story ‘Upper Division Love’.

What was Okeke’s concept of love marriage and what are the

things that change his mind ?

Answer the following questions in about 100 words each

two) [12]

What is the reason behind the traveller choosing the less travelled

path in ‘The Road Not Taken’ ?
Explain the argument between the mountain and the squirrel.

How does the poet distinguish between the real world and

the make-belief world of the lovers in ‘The Sun Rising” ?

Comment on the racial discrimination as presented in ‘The

Ballad of the Landlord’.

3 P.T.O.



5. Answer the following questions in about 100 words each

(any
(@)

(b)
(c)
(d)

6. (a)

(b)

[6201]-1031

two) : [12]

Do you agree with the view that ‘Lithuania’ is a horror

play ? Justify your answer.
Comment on the ending of ‘The Swan Song’.
Bring out the tragic elements in the one act play, ‘Lithuania’.

Attempt a character sketch of Vasili Svietlovidoff.

Write a short note in about 50 words (any one) : [4]
(i) The nature of Syntax
(it) Phonology and Phonetics.

(i) Identify the number of phonemes in the following words

(any two) : [2]
(1) post
(2)  bank
(3) tall
(4)  know.

(iz1) Identify the structure of the following words in terms
of C and V (any four) : [4]
(1) fair
(2) plan
(3) sold

(4) strange
(5) next

(6) raw.
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(iii) Identify the vowels in the

(any four):
(1) curd
(2) mat
(3) shut
(4) get
(5) put
(6)  sit.

following words

[4]



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
- [5201]-1033
F.Y. B.A. EXAMINATION, 2017
COMMERCE
G-1 : Organisation of Commerce
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1)

Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(2)
(i1)

(1i1)

Define the term ‘Commerce’.

What is ‘Wholesale Trade’ ?

What is ‘Marketing’ ?

(iv) Give the meaning of ‘Sea-Transport’.
2. Answer in about 100 words each (any four) : [20]
(i) Explain the services of Wholesaler.
(ii) Explain the concept of Buyers and Sellers Market.
(iii) Explain the scope of Commerce.
(iv) Explain modern concept of Marketing.
(v) Explain the functions of Advertising.
(vi) Explain the services of Retailer.

P.T.O.



3. Answer in about

(i)  Explain
(ii) Explain
(zi1) Explain
(iv) Explain

(v) Explain

the
the
the
the

the

250 words each (any three) :

elements of Marketing Mix.
Internet Advertising.
elements of Marketing.
functions of Money.

functions of Packaging.

4. Answer in about 500 words (any one) :

[30]

[20]

(i) What is Wholesale Trade ? Explain functions of Wholesale

Trade.

(ii) Explain the factors affecting selection of Media.

(W& T UIM)
9@ @ dF A THUT T : 80
o :— (i) W U diefau ofeRds Sle
(i) SSEIHkeld 3Tk YA Ul T[0T Sifea
1. @cid Y3l gds gaR 50 [ I fasl (Fvdet €M) ¢ [10]

(G) ‘erforew’ @ GEl o SATEAl Wl

(i) ‘'TSe FNR' WIS ®E  ?

(i) ‘fouom’ wuN @™ ?

(jv) ‘FYS-AEgHET’ T T
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2.

3.

Trelidl JeAET Jdd! AR 100 I&E[ SW fa@l (Fvmel =9)) @ [20]

(1) Ik AURIAT ol T2 .
(i) TERNET o fahal dNRds & T TR &9
(ii7) dAToSArEl AWl TS .

(jv) TouomrER eMYfTw Weheud TR HA.

(v) IfeUd=i ™ T &

(vi) THiHId UFITT a1 W H.

Gheftel YoM dehl 250 Iegid Sk foel (Hivdel o) [30]
(G) ‘fguoE Ay’ @ Wk W &

(ii) ‘S’ Sfeddiened oA .

(iii) fouoFE e T S

(Gv) UM hTE T HAL
(v) YU HE T H.

Ged Yol AR 500 Vi S foa@l (FIVAR Th) [20]

(i) TSk AUR WIS HME ? HUSe ANFAET & W S

(i) <nfeud wegn fragiar gRome oM S T &

[5201]-1033 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-1034

F.Y. B.A. EXAMINATION, 2017
EDUCATION (G-1)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the role of education in economical development.
(2) Explain the importance of pre-primary education.
(3) Explain the importance of television in education.
(4) Explain the meaning of education.
(5)  Explain the ‘Earn and Learn’ scheme stated by Karmaveer Bhaurao
Patil.

(6) Write the limitaions of observation method.

2. Answer the following questions in 200 words each (any two) : [20]
(1)  What is value education ? Explain the importance of value
education.
(2) Explain the aims of ancient education in India.
(3) Describe the educational throughts of Swami Vivekananda.

(4) Explain the advantages and limitations of Introspection method.

P.T.O.



3. Answer any one of following questions in 400 words : [20]
(1)  What is the meaning of stagnation and wastage in primary
education ? Explain the causes of stagnation and wastage in

detail.
(2) What is Family ? What are the functions of Family ? Explain

the educational role of family in changing period.

4. Write short notes in 50 words each (any four) : [20]
(1) Nature of ‘Shantiniketan’
(2) Values in Indian Constitution
(3) Limitations of Experimental Method
(4) Importance of Education stated by J.P. Naik
(5)  Objectives of Education in National Policy of Education 1986
(6) Concept of Non-Formal Education.

(AE waiav)

9% : 9 a™ THUT TOT : 80
oM :— () wd TR Hiefou SEvdE eed.
(i) Seeiwed sk qof o g

1. Tod YRE SW YEe 100 vE[ fael (Fod |w) [20]
(1) omfeder foshremd foeqom=t yfHem T &3
(2) YE-wafgs fugome @@ R w9
(3) T fgondled "o fomn
(4) fogomn s W= &
(5) HHIR WG Ut A Fifdelelt ‘wHer o YR’ A TR &6
6) T ugden "I fem
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2. WA YIAET SW YR 200 V<[ ARt (FvmEl g ) [20]
(1) 9o Fgo BN ®@ ? o o 7gd e w9
(2) WM 9RdE freomeh O T #
(3) T fodeme a= dwfe faar T w5
(4) ST USd ®EE 9 HAR R S

3. WeicUs! SR Tl T W 400 Ve[ fagr . [20]
(1)  wafaes freqondia TorH 9 T@dl WUS S 2 T F Tddist shiol
gfoeay W2 H.

(2) A WIS HF ? HIAE HE RO ? FTeAA BT o

Yeffier  Seee] T .

4. YAH 50 V=@ AW R (FORE W) 201
(1) vdthaT™ @ey
(2) HRAE TSFEAdd oo
(3) TUHEIfh dgden waf
(5) U qafow @ROT 1986 mei feraomsh sfee
(6) S feomel  HeheuH.
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Total No. of Questions—5] [Total No. of Printed Pages—5

Seat
Yo, [5201]-1035
F.Y. B.A. EXAMINATION, 2017
MATHEMATICS
FMG-I : Industrial Mathematics
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(z11) Use of calculator is allowed.

1. Attempt any eight of the following : [16]

(a) Evaluate :

. x[x2 —18x + 81]'

x =9 x* - 81

® If flx) = @3 + 5) * + 2) find £7(0).

(¢c) Draw the graphs of the following equations :
@ 2¢ + 3y + 12 =0
Gi) x = 2y2.

(d) Define the terms ‘Convex and Concave functions’.

(e) Find A(A + B) if A =

P.T.O.



(f)  Evaluate :
5 4
fle(x +3) dx.
(g) Draw feasible region which is bounded by 2x + 3y < 6,

x <1,y <1, x =20,y = 0.

(h) Find transpose of A — B if A =

(i)  State Distributive laws in Matrix Algebra.
(;) Find critical values of :

y = —x3 — 6x2 + 1440x — 545.

2. Attempt any four of the following : [16]
(a) Discuss the continuity of the function flx) at x = 3 and
x = 0, where :
x -3
flx) = — when x ¢ {3, -3}
x° =9

= 6 when x e {3, -3}
(b) Evaluate the following limits :

5x>2 —8x +9

() lim

x—3 x+2
(i1) lim2 \2x7 + 1.
x =
. dy . S5x +1
(c) F1nd$ if y = Bx — 4) - x4

[5201]-1035 2



(d) Test to see whether the following functions are increasing,
decreasing or stationary at x = 4 :
i) y = 2% — 623 + 442 — 13
i) y = (bx2 — 8)2.
(e) Find relative extrema for the function :
flx) = x* — 8x3 — 80x2 + 15.
(f) Find minimum average cost for the total cost function :

TC = Q3 - 5Q2 + 60Q.

3. Attempt any two of the following : [16]
(a¢) The equation for the production isoquant is :
25K3/5 125 = 5400
(i) Find the Marginal Rate of Technical Substitution.
(i) Evaluate it at K = 243, L = 181.
(iiz) Write economic interpretation of MRTS.
(b) Given flx) = g(x)/h(x), where g’(x) and A’(x) both exist and
h(x) # 0, prove that :
h(x) - g'(x) = g(x) h'(x)

A (x) - [h (x) 2

d
(¢c) Use implicit differentiation to find d—i: for the functions :

@) Txt + 3x3y + 9xy2 = 496
(i) (By — 213 = 6xd.

[6201]-1035 3 P.T.O.



4, Attempt any four of the following :

[16]

6 9

(@) Find AB + C) + I where A =[4 7 2], B=1|5|,C =15
1 8

and I is identity matrix of order 1.

(b) Evaluate :

f 6x> +4x +10

(x3 +x? + 5x)3 o

(¢) The rate of net investment is I = 60t1/3 and capital stock
at ¢t = 1 is 85. Find K.

(d)

Use Gauss elimination method to solve the following system :
4 + 3y — 28 = 0
2x + b5y = 42.
(e) Find TC if MC = 16e%4Q and FC = 100.
99

Find Extreme points (corner points) of the region bounded

by the following constraints :
2 + y < 10

y <5

&
IA
[\

8
\Y
=
<
\Y
o
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5. Attempt any two of the following :

(@)

(b)

(c)

[5201]-1035

[16]
Solve the following LPP by graphical method :

Min. Z = 4x + 3y
Subject to :

x + 4y > 4

4 + y =2 4

x +y <6

x =20,y 20

Find total revenue function and the demand function corre-
sponding to the following marginal revenues :

i) MR = 84 — 4Q - Q2

(i) MR = 60 — 2Q% - 2Q.

Verify associative and distributive laws for the following

matrices :

A




Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
Yo, [5201]-1036
F.Y. B.A. EXAMINATION, 2017
PHYSICAL EDUCATION (Theory)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40

N.B. — (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iti) Draw the diagrams wherever necessary.

1. Answer the following in 50 words each (any two) : [5]

(i) Write importance of sports uniforms.

(it) Write about first-aid on playground.

(iit) Write objectives of Physical Education.

2. Answer the following in 100 words each (any two) : [10]

(i) Write importance of Exercise in youth life.

@
@

i) Write importance of Yogasana in life.

ii1) Write about Health related physical fitness.

3. Answer the following in 200-250 words each (any two) : [15]

@
¢
@

) Draw a sketch of Kabaddi ground.
i) Write list of events in Athletics.
ii) Draw a sketch of Volleyball ground.
P.T.O.



4. Answer the following in 500 words (any one) : [10]
(i) Write about maintenance of play ground.

(it) Write about Sports Sociology.

(AE wuiav)
= THUT TUT : 40
ol :— () 9d WA defan oeRas s
(i) 3SoEHEl® Fd YU U EFifedr.
(iii) TR qY 3Mhdl el

1. Wil 50 v S fa@ (wea dF) [5]
(7)) SIS &G TUERTY HEd TR H
(i) TEHER JIHIERE Ted T H.
(i) v fogor=h fafay s fomn

2, Welddst 100 v Sw faw (wed 9) e [10]
(i) JAT AERAd ARMNE Heed TR H.
(i) SHeA@ A WA TR
(iii) SRS YRE  ama aeEd fo.

3. Weiiadel 200-250 VS SW fa@l (e SF) [15]
(i) wHoger=n HIMRT STHdt Hial.
(Gi) Sfucifesm udte fafay smei=i 9t .

(iii) <RTchdicr=n HeMMEl SHhdl  hIal

4, Wefieis! 500 ¥ SR ol (W Wek) [10]
() Temmr fm TEvar SeaEr w@fedt form
(ii) SISl THNRITEAEEA HAlfedl  foTal.
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Seat

Y. [5201]-1037

F.Y. B.A. EXAMINATION, 2017
MATHEMATICS

(MG-1 : Algebra and Geometry)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory
(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]
(a) Let X = {a, b, c}. Construct an example of a relation on X
such that the relation is reflexive and symmetric but not
transitive.
(b) State Division Algorithm for integers.

1 2

(¢) Find the rank of A=
2 4

(d) Find all elements in Z: that satisfy x2 = «x.
(e) State factor theorem for polynomials.
(f) Find the centre of the conic :
5x2 +6xy +5y> —-10x -6y —-3=0.
(g) Find the direction cosines of AB where A(2, 3, -1) and
B0, -1, 2).
P.T.O.
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(h) Find the distance of a point (1, -1, 2) from the line :
x_Jy -1 _z+ 2
2 =2 1
(i)  Define a cylinder.
(;)  Find the equation of the sphere with AB as a diameter, where
A2, -3, 1) and B(-1, -2, 4).
2. Attempt any four of the following : [16]
(@) Prove that if x and y are odd integers, then x2 + y2 is even
but not divisible by 4.
(b)  Write down the addition table of z.
(¢c) State and prove Euclid’s lemma.
(d) Find greatest common divisor of :
fx)=x*+x>+x+1 and g(x)=x*+1.
(e) Solve x* —6x?+3x+10=0, the roots being in A.P.
(f) Find the value of A for which the following system will have
a unique solution :
xX+y+z=6,
x+2y+3z=10,
x+2y+ Az =10.
3. Attempt any fwo of the following : [16]
(a) State and prove the Division Algorithm for integers.



(b) Let A=|1 3 2 |. Find eigenvalues and eigenvectors

of A.
(¢c) Solve the system of equations :
2c — 3y + 5z =1
3x +y —z = 2

I
—

x + 4y — 6z

Attempt any four of the following : [16]
(a) If o, B, vy are the angles made by a line with the positive
directions of the coordinate axes, then prove that :

cos? o + cos? P + cos?y = 1.
(b) Find the equation of the plane passing through the points
(1, 2, 2), (2, 1, 2) and (-3, 0, 1).
(c) Find the shortest distance between the lines :

x-3 y-5 z-7 d
1 S . an

x+1 y+1 z+1

7 6 1
(d) Show that the plane 2x — 2y + z + 12 =0 touches the sphere

x2+y?+z2-2x—-4y+2z=3. Also find the point of
contact.
(e) Find the equation of the right circular cylinder whose axis

is x = 2y = — z and the radius is 4.

[5201]-1037 3 P.T.O.



")

Find the angle 6 through which the axes should be rotated

so that the transformed form of the expression ax? + 2hxy
+ by? is free from the product term.
5. Attempt any two of the following : [16]
(@) Reduce the equation 7x? +8xy + > + 6x + 6y —9 =0 to stand-
ard form and name the conic.
(b) Find the angle between two lines whose direction cosines are

(c)

[5201]-1037

connected by the relations :

2l — m + 2n = 0 and

mn + nl + Im = 0.
Define a cone. Find the equation of the cone whose vertex
is at the origin and the guiding curve is :

x>+ Y2 +z224+2ux +d=0,Ix + my + nz = p.



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5201]-1038

F.Y. B.A. EXAMINATION, 2017
STATISTICAL PREREQUISITES
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iii) Calculators and statistical tables are allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt each of the following : [1 each]
(A) State whether each of the following statements is true or
false :
(i) Median is a measure of central tendency.
(ii) Mode is equal to second quartile of the data.
(zit) As variable X increases, variable Y decreases, so there
is positive correlation between X and Y.
(iv) The correlation between variables X and Y is positive,

so the covariance between X and Y is also positive.

P.T.O.



(B)

[56201]-1038

Choose the correct alternative : [1 eachl]

(@)

(i1)

(ii1)

The arithmetic mean (a.m.) of 100 observations is 40.
Ten is subtracted from each observation, so the a.m. of
new observations is :

(@) 30

b) 90

(c) 50

(d) 40

The second central moment m, is 16 for a data, so variance
of the data is :

(a) 4

(b) o4

(c) 16

d) 2

For a bivariate data, the Karl Pearson’s correlation coefficient
is +1. So the variables X and Y are :

(a) Uncorrelated

(b) Negatively correlated

(¢) Perfectly positively correlated

(d) Perfectly negatively correlated



(iv) The Karl Pearson’s coefficient of skewness is 0.9, so the
frequency distribution is :
(a) negatively skewed
(b) symmetric
(c) positively skewed
(d) leptokurtic

(C) Answer in brief : [2 each]

(i) Define SRSWOR.

(i1) Explain the term : ‘cumulative frequency more than
type’.

(iiz1) Define Laspeyre’s price index.

(iv) Define ultimate class frequency for data on two

attributes.

2. Attempt any four of the following : [4x4=16]
(A) Explain the concept of statistical average. State the requirements
of a good statistical average.

(B) Draw frequency curve for the data given below :

Marks Number of Students
50—55 16
55—60 28
60—65 40
65—70 22
70—75 14

[6201]-1038 3 P.T.O.



(C)

The following data represent information regarding marks of

students in two Divisions A and B :

Div A Div B
a.m. of marks 62 58
standard deviation of marks 36 16

In which division the marks are more consistent ? Justify.

(D) Explain how the third quartile Q5 is obtained graphically.

(E) Write a note on skewness.

(F) Define :

(i) Mean deviation about median.
(ii) Coefficient of mean deviation about median.
3. Attempt any four of the following : [4x4=16]

(A) What do you mean by Kurtosis ? Explain different types of
Kurtosis using suitable sketches.

(B) Explain the terms : Attribute and Dichotomous classification
in attributes. Give illustrations.

(C) The average contribution paid by 90 students for a welfare
programme is Rs. 100 and that by 10 teachers is Rs. 800.
Obtain a.m. of contribution paid by entire group of 100
individuals.

(D) Define rth raw moment (m ) and rth central moment (m,)

[56201]-1038

for grouped data. State the third central moment in terms

of first three raw moments.

4



(E)

(F)

(A)

(B)

(®)
(D)

[5201]-1038

State simple linear regression model. Give the estimators of
parameters of this model by the method of least
squares.

For a bivariate data :

n = 10, XX, = 140, XY; = 160,

IX? = 2200, XY? = 3050 and

2X.Y; = 2600, compute the Karl Pearson’s correlation coefficient

r between variables X and Y.

Attempt any two of the following : [2x8=16]

(i) Explain the difference between Correlation and Regression.
(ii) Explain the concept of the coefficient of determination.
Explain the methods of :

(i) Shifting of base

(ii) Splicing, in series of price index numbers.

Explain the problems in the construction of index numbers.

Obtain variance for the data below :

Weights (kg) Number of
Children
10—15 17
15—20 14
20—25 16
25—30 22
30—35 18
35—40 13
5 P.T.O.



5. Attempt any one of the following :

(@)

(b)

[56201]-1038

(@)

(i1)

(ii1)

(@)

[1x16=16]
Explain the concept of consistency of data on two
attributes. State the conditions of consistency for two

attributes.

Obtain Yule’s coefficient of Association (Q) for the data

below :
Healthy Unhealthy
Child Child
Healthy mother 300 80
Unhealthy mother 20 400

Obtain Paasche’s price index and Fisher’s price index for

the data below :

Commodity Price in Quantity in
2005 2011 2005 2011
A 10 18 100 200
B 16 30 80 150
C 25 45 60 100
D 38 75 40 90

Draw Scatter diagram for the data below and conclude
about the type of correlation between variables X

and Y :

X, Y,

5 17

8 20
6



17 28

10 25
2 13
25 43

(ii) Explain concepts of (A) heterogeneous population
(B) systematic sampling.

(ii1) Define Spearman’s rank correlation coefficient (R).
Interpret R = — 0.8.

(iv) Explain the least squares method of fitting the curve

Y = abX to a given bivariate data.

[5201]-1038 7
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Seat

No. [5201]-1039

F.Y. B.A. EXAMINATION, 2017
LOGIC AND PRINCIPLES OF REASONING
General Paper-I
(Introduction to Logic and Principles of Reasoning)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following : [20]

(i)  Symbolize the following propositions using the symbols given
in the brackets :

(@) Russell was a philosopher as well as a logician.
(R, L)

(b) If you practice writing regularly then only your thoughts
will become clear. P, C)

(¢c) If the argument is valid then the conclusion is true.

(V, T)
(d) The blind prisoner has a red hat or a white hat.
(H, R)
(e) It is false that all humans are mortal. (M)

P.T.O.



(11)

(1i1)

(tv)
(v)
(vi)

(@)

[56201]-1039

Determine whether the following statement forms are tautologous,
contingent or contradictoy with the help of truth table method
(any two) :

(@ (p>q9) =(qg>~p)
b (p-q) . (p>~9q)
) p>[p>(g~9]
d  (pDg) v (r.s

Determine whether the following statement forms are tautologous,
contingent contradictory with the help of shorter truth-table
method (any two) :

(@) [p2(p>29)]>¢q

&) p=lpvip.9]

) (p>p>D@.~9

d)  [(pve.plo~q

Simple and compound propositions
Conversion

Dilemma.

Answer any two of the following : [20]

Give Direct deductive proof of any fwo of the following
arguments :

(@ A>~B
~(C.~A)/"nC>~B

b) (JvK)o~L
L /..~

(c) (G >o>~H)>olI
~(G.H) /~1v~H

d ~A/..ADB



(i1) Convert and obvert the following propositions :
(a) All merchants are wealthy.
(b) No animals with horns are carnivores.
(c) Some saints are women.
(d) Some students are not studious.

(ii1) Explain any two general rules of categorical syllogism. Give

examples.

(iv) Explain the fallacy of composition and of complex question with

examples.

3. Answer any one of the following : [20]

(i) Explain the symbolic representation of categorical propositions
A, E, I, O with Venn diagrams.

(ii) (A) Prove the invalidity of invalid arguments (any two) :[10]
(@ A DB
CoD
AvD /.. BvC
b) ~(E . F)
(~E .~F) (G.H)
HoG /.G
(¢ FDOR

SR /o F o8

[6201]-1039 3 P.T.O.



d A=@®BvO0)
B=(C v A)
C=(A v B)
~A /.. BvC

B) If set Uis {1, 2, 3, 4, 5, 6, 7}, A = {1, 2}, B = {1, 2, 3},
C =12, 3,5, 7 and D is {4, 5, 6, 7}, then list the elements
of the following sets : [10]

i) A uUB

(@) C nn (A U B)
@i) C u D

(iv) ~ A n ~B

v) D n A.

4. Write short notes on any four of the following : [20]
(i) Explain the distribution of terms in A, E, I, O.
(ii) Square of opposition
(iiz1) Propositional variables and constants
(iv) Evaluation of the truth-tree method
(v) Models of specifying a set

(vi) Indirect Proof.

[56201]-1039 4



(TS wTR)
q% : W q™ THUT TOT : 80
g :— (i) Wd WA diefdau SAendd Sk
(ii) 3SReld 31 qui U gRifadn.
(iii) HeWEE! He TUSH URAULTR] URrEl.

1. Ecffeiish! HIocadl = Yo SWoA [20]
(i) Tha fag= fooet far aues famet &0 e

(@) Wda TEd dal E™ dedaes. (R, L)

(b) SR g werrEl fEfbd e waw, W= g9 foer s gdi

(P, C)

(¢c) SR STAM I 3Wd, R T g 1l V, T)

(d) o9 Sl IJW o fear 9l AR (H, R)

(e) Wd WA TA AW T ATA IR (M)

(i) el foursy Hda: @, 9dd: A9 fhar Afafeaan 99 e,
T TOAEY USdredl GerRAM Xal (Fivel §ie)

(@) (pDg)=(~q>D~p)
b (p.q). (p2~9q)
() p>lp >(g.~9q)]

d (pog)v(r.s)
[5201]-1039 5 P.T.O.



(jii) Weial faummeR 9dd: 99, 3 fear Sfafvean @@ omeq, ©
Y FAAl HIed TSAred AR Nal (Fvdal gF)

(@ [po2(p>9l>q
&) p=I[pvip.9]
€ (>p>@~9
d)  [(pvg) pl>~q
(jv) Wa oo Ty faum
(v) HREdA
(vi) SHATII.

2. WA HIOERI M Y=t SW o : [20]

(i) Treld gkerEt Wa TEHe fagar @ (o g )

(@) A>D~B
~(C.~A)/~C>~B
b) (JvK)yo~L
L /.~]
(c) (G o>~H)>ol
~(G.H) /~1v~H
d ~A/..ADB
(i) wrea faud 9iedd efr gfdedd &a
(@) Td NI #iHd  THdr.
(b) oM oTHclen UHE WUt HEWes A9l

(c) <l gd o sdm.

(d) el fomnedl 1y THAW.
[52011-1039 6



(i) Trewfys dfggmme ®ivde g9 99 SRl <3d W &
(jv) TYEIWE o9 FgITAIE § Tha™ AU aHd TR H

3. WClicluh! SR Tl YIE WA [20]
(i) =T SFFHFA B Fd A, E, I, O 1 Ford fTuRehi= S .
(i) (1) Tia 3¥E ATHAET Ageaal (9§ U (FvdE g ) :[10]

(@ A DB

C>oD
AvD /. BvC

b)) ~(E.F)
(~E .~F) o(G.H)
HoG /.G

() F >R

SoOoR /& F o8
d A= B v C)

B=(C v A)

C=(A v B)

~A /.. BvC

(a) ST U = {1, 2, 3’ 4’ 5’ 6, 7}’ A = {1’ 2}’ B = {1, 2’ 3}’
C =128 5 7 &1 D = {4, 5, 6, 7} 3 W Tl H=
e 9 [10]

i) A UB

i) C N (A U B)
(Gii) C u D

(iv) ~A n ~B

) D n A.
[56201]-1039 7 P.T.O.




4., WCldUh! SR WReR  Sedd Sd W [20]

G) A, E, I, O =1 foursrdel U= faqior o< &
(1) faum-faQemn <SR
(Gii) fagm =R T 33N

(jv) TAAIY Fgdd HeIHI
v) F= ff=[ wwa=n gsd
(vi) eyael fagd-vsd.

[56201]-1039 8



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

. [5201]-1040

F.Y. B.A. EXAMINATION, 2017
SOCIOLOGY
(G-1 : Introduction to Sociology)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i) Importance of Sociology
(ii) Primary group
(1ii) Material culture
(iv) Elements of social structure
(v)  Conformity and deviance

(vi) Sociology and social work.

2. Answer the following questions in 200 words each (any two) :[20]
(i) Explain the types of social control.
(i1) Explain the characteristics of social stratification.

P.T.O.



(ii1) Explain the subject matter of Sociology.

(iv) Explain the characteristics of Society.

3. Answer any one of the following questions in 400 words : [20]
(i) Define social change. Discuss the factors of social change.
(it) What is culture ? Explain the elements of culture.
4. Write short notes on (any four) : [20]
(i) Reference Group
(ii) Non-Governmental organization
(zi1) Characteristics of social institution
(fv) Non-material culture
(v)  Characteristics of Social Groups
(vi) Scope of Sociology.
(TS wUIaR)
q% : W q™ THUT TUT : 80

o — () Wa WA Hiefan oeves oRd.

1.

(i) SSTeheiel 3feh o U e,
(iii) TG oo TUST YYAUlAHT URTE.

el g3l Yt 100 VIsSid S fofgl (gl 9r) [20]

(1) USRS Hed

(ii) WUgHR 98
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(iii) oifds Tt
(jv) M =AY SEh
(v) HAFFEA sTfur =™

(vi) YHNITES 0T HS hrd.

2. T YAl YS! 200 veSid S @l (FRvEl ae) [20]
() TmEfSeh oo YRR TR &

(ii) HHIfSeh TWAROM=T Afyrse] e .

(iii) TUSRTSET A9GE faug T &.
(o) HHSTET JfYsRl T HA.

3. Weiidl ®IUAE! Ueh U¥H Yodoh! 400 Iresia ferer [20]
(G) Tt gRedamt <aren fagr. amifses 9fiads Seduran Seehi=
==

(i) Tpdl WIS HE ? G&dd FEh TR B

4. dreRE fow fagr (Fv@E = @) [20]
(i) G4 e
(i) owmafeEa wEnr (N.G.0.)
(iii) SIS e Sfrs
(lv) Afdw FEhd
(v) WIS FHETE AT

(vi) THNSRTSTET ST,
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[5201]-1041

F.Y. B.A. EXAMINATION, 2017

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper 1

(Outline of Prehistory, Protohistory and Early History)

Time :

(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
(5)
(6)

State the archaeological sources of Ancient History.
Write about the Inamgaon excavations.

State the important types of Megalithic Burial.
Explain the contribution of Samrat Ashoka.

State about Kanishka—the Great

Write the Shaka-Satvahana conflict.

2.  Answer the following questions in 200 words each (any two) : [20]

(1)
(2)

3)
(4)

State the important definitions of History.

Explain the salient features of the Harappan town
planning.

Write the main teachings of Bhagwan Buddha.

What do you know about the history of the Pallavas of
Kanchi ?

P.T.O.



3. Answer any one of the following questions in 400
words : [20]
(1) Write an essay on the 'Neolithic Revolution'.
(2) Discuss the economic transformations during the second
urbanization (Mahajanapada Period).

4,  Write short notes on (any four) : [20]
(1) Medieval Period
(2)  Paleolithic tools
(3) Rigveda
(4) Invasion of Alexander
(6) Samudragupta
(6) Chalukyan temples at Aihole and Pattadakal (Karnataka).

(W@ T UIM)
9B : WA qW THUT TOT : 80
g — () WA YT STORIER 3.
(i) SEhele 3% YA YU IO SEifodm.

N N

1. SO Yt S Ydst 100 IS faw (SIvaE w|mw) [20]
(1) 9=+ sfage=l U §@Ee 9.
(2) AT ScEAasE el
(3) TEMMTiE THAE Y@ WHR G
(4) TUR e INCH TR H.
(5) TEM iSRS F.

(6) IH-Hadaed guy e

2. WO YA SN TEE! 200 V=R foR (FUME gH) [20]
(1) sfoer=n yq@ =are 9n.
(2) TSUEAT TRIEHE! 3@® ARl T .
(3) wWEA dgrE yqE Rrewau ol
(4) wHE UooEre sfaeEifasEl R e Hied! $TE 7
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3. HIUCRI Tk T IW 400 V<[ fo@r [20]
(1) ‘eEgIE @i’ geR ey foE
(2) TR AMREN (TRENHIE HIAEE) AN 3fdd =i ==

F.
4., foor feer (@vE =) [20]
(1) AP FHEEs
(2) YUEETH TER
(3) W
(4) SRSl W
(5) "I«

(6) TF@ ool qeedha (Fdlewh) A =g HiL.
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(Outline of Prehistory, Protohistory and Early History)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any fwo) : [10]

(1)
(2)
(3)
(4)

What is 'Protohistory’ ?
State the types of Literary Sources.
Write about the 'Mahajanapadas’.

What do you know about the Chalukyan temples at
Aihole ?

2.  Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
4)
(%)
(6)

Write about the Pre-historic Maharashtra.
State the extent of Harappan civilization.
Write the types of Megalithic Burials.

State about Chandragupta Vikramaditya.

Write in brief about Vakataka dynasty.

What do you know about the Pallava rulers ?

3. Answer the following questions in 200-250 words each (any

three)

(1)

(2)
3)
(4)
(%)

[6201]-1041

[30]
Explain the Archaeological sources for the Ancient Indian
History.

Write about seals and script of Harappan Civilization.
State the life and teachings of Bhagwan Buddha.

Write the contribution of the Kushanas.

State the history of Rashtrakutas.

4



4. Answer any one of the following questions in 500 words : [20]
(1) Why is Neolithic Age called as the 'Age of Revolution' ?
(2) Write the achievements of Ashoka with reference to his

"Dhamma’.

(TS TUIaR)
q% : dF A THUT TOT : 80
AT :— (i) WA YA defau oAeavasd aed.
(i) SARElT 3Tk YA Ui o geifodm.

1. TS Yl SW TSRl 50 v foel (VR @) [10]
(1) ‘sieE-yd' =us wE ?
(2) faEia A YR 9L

(3) wRHUCIasE e
(4) ‘'Ee Idfa age Af) AfosEl gRE s dfedt e ?

2. YIHI 100 I<d A9 fawr (Fod ww) e [20]
(1) ‘wriifaerfas wermse’ wfast forer

(2) TSl TEhHAET AT G

(3) THEMMEU THAA YhR fogl

(4) =gy« famdfca anfaset @
(5) AThIeHk STERMO ITfoeRt  digeRma forar
(6) Hood IMEHIGERT TR HME Hiiedt e ?
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3. TGO WIAEl W YS! 200 7 250 =@ fo@l (@R @) [30]
(1) YA 9RdE sfagr=i quaela @y o &
(2) TEMW U&hdre g oo fodt arfaset for.
(3) WEM FguEt Siad oo ReRau wEmL
(4) g IreH  foEr

(5) UgHeEl sfagE @

4, THA HUAE Tew TAE SR 500 K@ fowr o [20]
(1) -OR9gTE ‘Side g Y w WM ?
(2) oWl MR, = s deuid  foern
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Total No. of Questions—5]

[Total No. of Printed Pages—7

Seat
No.

[5201]-1042

Time

N.B. —

: Three

(i)
(i0)
(i)
(iv)
()

F.Y. B.A. EXAMINATION, 2017
STATISTICS

(2013 PATTERN)
Hours Maximum Marks : 80
All questions are compuslory.
Figures to the right indicate full marks.
Symbols and abbreviations have usual meanings.
Use of calculator and statistical table is allowed.

Graph paper will be provided on request.

1. Attempt each of the following :

(@)

State whether the following statements are true or false :

(@)

(i1)
(ii1)

(tv)

[1 each]

Fisher’s price index number is the square root of product

Laspeyre’s and Paasche’s index numbers.
Index number is not a economic barometer.
Coefficient of determination is always non-negative.

Number of pages of a book is a example of an attribute.

P.T.O.



(b)

[5201]-1042

Choose the correct alternative : [1 each]

(2)

(i1)

(ii1)

(tv)

Variance is a mean squared deviation about its :

(1) Mean
(2) Mode
(3) Median
(4) Zero

If Corr (X, Y) = 0.7, then Corr X + 3, Y — 3) is :

(1) 0.7
(2) 014
3 0.7
4) 0.9

First raw moment is always equal to :
(1) Arithmetic Mean

2 0

3 1

(4) Variance

Box plot helps to judge the :

(1) Central value

(2) Spread

(3) Symmetry

(4) None of the above



(c)

[5201]-1042

Answer in brief : [2 each]

(@)
(i1)

(ii1)

Define attribute and variable.

Define positive and negative correlation with one example

each.

Define population and sample.

(iv) If regression equation is given where X is independent
variable as :
3Y - X =4
then find its regression coefficient.
2. Attempt any four of the following : [4x4=16]

(a) Explain the effect of change of origin and scale on central
moments.

(b) Define median in case of continuous distribution. State the
merits and demerits of the median as a measures of central
tendency.

(¢) The values 3, 5 and 7 are assigned weights 2@ — 4, &k — 2
and £ + 1 respectively. If the weighted arithmetic mean is
6 find k.

(d) Given that :

Zp1q¢ = 2000, 2poqg = 1600
2p1q1 = 1300, 2pog1 = 1030

Construct Fisher’s price and quantity index numbers.

3 P.T.O.



(e)
)

(@)

(b)

(c)

[5201]-1042

Write a short note on systematic sampling.

In a certain interview there were 126 candidates of which
70 were boys. 36 candidates were successful among them 20
were boys. Obtain the coefficient of association between success

in interview and attribute boy, interpret your result.

Attempt any four of the following : [4x4=16]

Find correct coefficient of correlation (r) for given data after

omitting (5, 10) as a wrong pair of observation :
n =5 3x =20, 32 =90, Xy = 20,
Sxy = 100, Xy2 = 180

The first three moments of a distribution about 3 are 1, 22

and 10. Find its mean, S.D. and third central moment.

For the following distribution of 100 workers, it is known that

median is 32. Find the missing frequencies.

Age No. of Workers
Below 20 5

20—25 12

25—30 —

30—35 20

35—40 —

40—45 10

45—50 4

4



(d)

(e)

(@)

(b)

(c)

[5201]-1042

With usual notations show that :
—1<SP <+1.
Explain the procedure of fitting of the curve :
Y = a + bX + cX2

by the method of least square.

(/) The mean weight of 150 students is 60 kg. The mean weight
of boys is 70 kg, with S.D. of 10 kg. For girls the mean
weight is 55 kg with S.D. 15 kg. Find the number of boys
and combined S.D.

4. Attempt any two of the following : [2x8=16]

Given n pairs of observations (x;, y;) i = 1, 2, ........ n, explain
the procedure of fitting of simple linear model of the type
Y =a+bX+e, with E(e) =0, V(¢) = o estimate the parameters

‘@ and ‘b’ by method of least square.
Define the following terms :

(i)  Covariance

(i1) Positive correlation

(iii) Regression

(iv) Coefficient of determination

(i) With usual notations prove that _|1<,<41.

5 P.T.O.



(i1) Find rank correlation coefficient for the following

data :
Ranks by A Ranks by B
6 1
5 2
4 3
3 4
2 5
1 6
8 7
7 8

(d) (i) Splice together the following series of index numbers by

continuing :
(I) the series A forward and

(IT) the series B backward.

Year Series A Series B
2009 17 —
2010 11 —
2011 14 —
2012 15 10
2013 — 12
2014 — 15
2015 — 20

(ii) Explain the concept of explained and unexplained variation
of dependent variable.

[5201]-1042 6



5. Attempt any one of the following : [1x16=16]

(@) (i) Derive Spearman’s rank correlation coefficient in case of
without ties of observations. [6]
(ii) Given the following data : [5]
Commodity Base year Current year
Price Quantity Price Quantity
A x 8 3 4
B 2 6 6 2
Find the value of x if ratio of Laspeyre’s price index
number to that of Paasche’s is 15 : 14.
(iii) With usual notations show that : [5]
B, 2P, +1
(b) (i) What is index number ? Describe the problems in the
construction of index numbers. [6]
(i) Write a short note on kurtosis. [5]
(1ii) Write a short note on Indian Statistical Institute situated

[5201]-1042

at Calcutta. [5]
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Seat

Y. [5201]-1043

F.Y. B.A. EXAMINATION, 2017
APPLIED MATHEMATICS—I
AMG-I : Calculus and Differential Equations
(General-I)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(zit) Use of calculators is allowed.

1. Attempt any eight of the following : [16]
(@) Find the solution set satisfying x2 — 5x < 6.
by IfS =11, 2, 3, 4,5, 6, 7, 8. Find the greatest lower bound
and least upper bound of set S.
(¢) Evaluate :
lim log sinx.
x—>0+ cotx

(d) Find the order and degree of the differential equation :

\/ —Q:i/1+ﬂ.
dx dx

(e) Define the continuity of function flx) at x = a.

P.T.O.



(f)  Evaluate :
1

I (x +1)(x+2)

dx.

(g) Find 4th derivative of y = cos?ux.

(h) Find an integrating factor of the differential equation :
(xzy - 2xy2) dx — (x3 - 3x2y) dy = 0.

(i)  Define Maclaurin’s theorem with Lagrange’s form of remainder.

dy
dx

(j)) Solve (y — px) (p — 1) = p, where p =
2. Attempt any four of the following : [16]
(@) State field axioms of set of Real Numbers.

(6) Evaluate :

. (1 1 j
lim | — - — .
x—>0\x sinx

(¢) Check whether fix) = tan~1x satisfies conditions of Lagrange’s
Mean Value Theorem on [0, 1]. If Alx) satisfies conditions of

LM.V.T,, find c.

(d) Discuss the continuity of flx) at x = a if :

2
flx) = 2= —a if0<zx<a
a
=0 ifx=a
3
=a—a—2 if x > a
X

[5201]-1043 2



(e) If y=e™ ¥ then prove that :
(1 +x2)yn+2 +[2(n + l)x - ljyn+1 +n(n + l)yn = 0.

(f)  Obtain expansion of sinx upto first six terms.

Attempt any tfwo of the following : [16]
(a) State and prove Rolle’s Mean Value Theorem.

(b) (i) Assuming the possibility of expansion, prove that :

(ii1) Use Mean Value Theorem to approximate ./69 .
(c) Define limit of a function at x = c¢. Prove that limit of a

function if exists, then it is unique.

Attempt any four of the following : [16]

(a) Evaluate :

dx.

x4+ x+1
'[ (x+2)(x+1)2

(b) Evaluate :

/2
I sin’ x - cos’ x dx.
0
(¢c) Define linear differential equation. Explain its method of
solution.
(d) Solve the differential equation :

(1 + 4xy + 2y2)dx + (1 + 4xy + 2x2)dy =0.

[6201]-1043 3 P.T.O.



(e) Find the orthogonal trajectories of the family of curves given

by y = 3x — 1 + ce™>*, where ¢ is a parameter.
2 dy
(f) Solve p2y — 2xp + y = 0 where p = e
5. Attempt any two of the following : [16]

(a) Define exact differential equation. State and prove the necessary
and sufficient condition for the differential equation to be
exact.

(b) (@)  Solve :

x —ap?2 + x —y)p —y =0

dy
where p = I
(zz) Solve :
dy 'y
— 4+ == y°,
dx x Y

(¢c) () Evaluate :

J- dx
Jx® +4x +2
(zz) Solve :

(X2 + yz)% = X).

[5201]-1043 4
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Seat

Y. [5201]-1044

F.Y. B.A. EXAMINATION, 2017
APPLIED STATISTICS
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iii) Use of statistical tables and scientific calculator is allowed.
(iv) Symbols have their usual meaning.

(v) Graph papers will be provided on request.

1. Attempt each of the following :
(a¢) State whether the following statements are true or

false : [1 each]

(i) If mean and variance of X are 100 and 16 respectively
and Y = 10X — 50), then the variance of Y will be same
as that of X

(i) Arithmetic mean cannot be determined for the frequency
distribution with open end extreme classes.

(iiz) Correlation coefficient always lies between -1 and 1.

(iv) If attributes A and B are positively associated

then :

(A)B) | (AB).
N

P.T.O.



(b) Choose the correct alternative : [1 each]

(i) The mean salary of 50 employees in a certain firm is
25000 per month. If each employee is given a performance
bonus of Rs. 5,000 in a certian month, then their mean
salary of that month will be :
(A) Rs. 30,000
(B) Rs. 25,000
(C) Rs. 20,000
(D) Rs. 5,000

(ii) Central moments are the moments about :
(A) origin
(B) mean
(C) any value
(D) 10

(iii) If index numbers of years 2005 and 2008 with respect
to the base year 2000, are 115 and 126 respectively then
the index number of 2008 with respect to base year 2005
is
(A) 109.56
(B) 110.65
(C) 120.14

(D) 14491
[6201]-1044 2



(c)

(iv) Which among the following characteristics is a variable ?
(A) Gender of a person
(B) Economic status of a person
(C) Nationality of a person
(D) Marks of a student

Answer in brief : [2x4=8]

(i) If mean, mode and standard deviation of X are 45, 50
and 5 respectively, then find Karl Pearson's coefficient of
skewness.

(ii) What is coefficient of variation ? Discuss any one of its
uses.

(iii) Let X be height of a person in feet and Y be weight
of a person in pounds. Let Z be height of a person in
inches and W be weight of a person in ounces (16 ounces
= 1 pound).

If corr(X, Y) = 0.8, then what will be corr(Z, W) ?

(iv) Discuss deflating of index numbers.

2. Attempt any four of the following : [4x4=16]

(@)

(b)

[5201]-1044

(i) Explain the term : Sample from statistical population.

(i) State the advantages and limitations of sampling over
census.

The following data give number of days of stay in hospital

recorded for 20 patients :

2, 10, 12, 8, 5, 13, 22, 25, 31, 28, 24, 15, 18, 35, 45, 23,

42, 15, 10, 7

Present the above information using Stem and Leaf chart.

3 P.T.O.



(¢c) Compute first quartile for the following data :

Marks No. of Students
10—20 7
20—30 33
30—40 45
40—50 10
50—60 5

(d) The population of a certain area is 1 lakh. The number of
literates is 40000 and total number of males is 70000. The
number of literate males is 16000. Find the coefficient of association
between the attributes 'literacy' and 'gender'. Interpret your
result.

(e) Explain the term 'skewness'. Explain different types of skewness
using suitable diagrams.

(f) Define raw and central moments for a frequency distribution
and state the expressions for the second and third central

moments in terms of raw moments.

3. Attempt any four of the following : [4x4=16]
(a) (i) Define median.
(i) Discuss any two merits and demerits of median.
(b) Define :
(i) Consumer's price index number
(i) Purchasing power.
(c) Explain the following methods of sampling :
(i) Stratified random sampling

(i) Systematic sampling.

[6201]-1044 4



(d) The following data give the number of hours worked overtime

per week by 100 workers :

Overtime No. of Workers
(in hours per week)
8—10 5
10—12 12
12—14 38
14—16 25
16—18 12
18—20 8

Compute mean and standard deviation for the above data.
(e) The following table shows the expenditure on entertainment

per month recorded for 60 families :

Per Month Number of Families
Expenditure on
Entertainment

(in Rs.)

0—500 5
500—1000 7
1000—1500 18
1500—2000 15
2000—2500 10
2500—3000 5

Determine the value of mode by graphical method.

[6201]-1044 5 P.T.O.



() (1) What is kurtosis ?

(i1) The second, third and fourth central moments of a distribution

are 5, 7 and 18 respectively. Compute the measure of

kurtosis

and comment on the result obtained.

Attempt any two of the following :

[2x8=16]

(a) The price and quantities for year 2010 and 2015 of commodities

are as given in the table below :

[8]

Year 2010 2015
Commodity Price Quantity Price Quantity
Py (qy) (1)) (g
A 35 32 27 45
B 25 25 20 42
C 20 30 18 25
D 26 35 18 34

Calculate price index number for year 2015 taking 2010 as

a base year using

(i) Laspeyre's formula

(zz1) Paasche's formula

(z11) Fisher's formula.

(b) (i) Explain why

barometers ?

index numbers are called economic

(i) Discuss any four problems in the construction of index

numbers.

[6201]-1044
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(¢c) (i) Explain the concept of regression and discuss its utility
by giving suitable illustrations. State an expression for the
line of regression of Y on X by the method of least squares

and give the interpretation of the parameters

involved. [4]
(i) The following table gives X (Height in inches) and Y (Weight
in kg.) of eight students : [4]

X Y

60 55

63 58

68 62

70 63

62 70

60 75

59 74

67 71

Draw a scatter diagram and give its interpretation.
(d) Compute the correlation coefficient between X and Y from the
following data : [8]
n =10,, x; = 120, Zx? = 540, Ty, = 120, 5y = 430, Zx,y, = 410

Also find correlation coefficient between U = 5X and

vV = 2Y.
5. Attempt any one of the following : [1x16=16]
(a) (i) Define Spearman's rank correlation coefficient. [2]

[6201]-1044 7 P.T.O.



(b)

[6201]-1044

(ii) The following table gives the scores (X) of an aptitude

test of eight candidates and their respective intelligence

quotients (Y) :
X
75
68
40
65
85
72
80
76
78
90

Y
80
82
56
75
70
85
65
68
60
72

[6]

Compute the rank correlation coefficient between X

and Y.

(ii7) Define :

(@)

(1) Ultimate class frequency
(2) Order of the class

(3) Fundamental set of frequencies

(4) Positive association between two attributes.

[8]

The number of units sold (in thousands) of a certain product

recorded for seven years are given below :
No. of Units
Sold (Y)

Year (X)

7
12
13

[7]



4 25
5 35
6 38
7 41

Fit the curve Y = a + bX + c¢X2 to the above data. Using
the fitted curve, obtain the estimate of Y for the
year 10.

(ii) Examine the consistency of the following data : [6]
N = 110, (A) = 42, (B) = 43, (C) = 45, (AB) = 40,
(AC) = 38, (BC) = 35.

(iiz) Explain the concept of residual and residual plot in case

of linear regression model. [3]

[5201]-1044 9
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Seat
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F.Y. B.A. EXAMINATION, 2017
PHILOSOPHY
(Introduction to Philosophy)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]
(1) Explain the concept of sadharan dharma.
(2) What according to theism is the relation between God and

World ?

(3) Explain the notion of Ruta.
(4) What is materialism ?
(5) Describe the nature of aesthetics as a branch of Philosophy.
(6) What is an argument ?

2. Answer any two of the following in 200 words each : [20]
(1)  What is the nature of reality according to Adwait Vedanta ?
(2) Explain fully the nature of deductive arguments.
(3) What according to you is the relation between art and morality ?

(4) State and discuss the nature and attributes of God.

P.T.O.



3. Answer any one of the following in 400 words : [20]
(1)  Critically examine hedonism.
(2)  Elaborately discuss the nature of Anumana (Inference) as a

source of knowledge.

4, Write notes on any four of the following : [20]
(1) Nature of art
(2) Cosmological argument for the existence of God
(3)  Classification of Indian systems of philosophy (Darshans)
(4) Dialogue as a method of philosophy
(5)  Deontology
(6) Definition of knowledge (Western perspective).

(TS wUIaR)
9% : 9 a™ THUT TOT : 80
oAl :— (i) | U¥T Wiefau ofewds S
(i) SRS AF YUl U <Eifaan.
(iii) WU H@ TUSH FTAUAHT TR,
1. Eeicisl ®IER 9) el S Tdel 100 [ fagr ¢ [20]
(1) wraRoed & ohed T W &

(2) IYAIERHEAR IR A S A=A wE GE" AR ?

(8) hRd Hho9ddl TR H

(4) “EaR WIS & ?
(5) TOREE Th IMEN RUE WA @WEIE o &
(6) o WIS ®HE ?
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2. WcUs! HIVUER S YIAEl IR TS 200 =M fewr ;0 [20]
(1) 3fgd SEUR arigar™s WY & T ?
(2) TH® FFRERE WEY Uue TR .
(3) qH= WA dal S Aifd A= A w1 S 7
(4) S W&y SN YUy 9EE Q@i ==l

3. TICliiciis! HIVAE el I W 400 @ foar [20]
(1) goore fafeds gl .
(2) AN TEH YHU WUH STIAMEA WEUET gfae® == el

4, WS HAE SRR fawr [20]
(1) cd @W&Y
(2) Y= AfEEeEl favasRuEn  girag
(3) 9RAE TAAErE YoUee  (S9HME) St
(4) HIE : dOIEE] TH USd
(5) hdHdR

(6) MM SAEA (URETT gieehid).
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat
No. [5201]-1046
F.Y. B.A. EXAMINATION, 2017
MATHEMATICS
(Mathematical Pre-requisites)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(ii1) Use of pocket calculator is allowed.
(iv) Draw graph where indicated.
1. Attempt any ten of the following : [20]
2 dy
(a) Ify = 2x —3x,ﬁndE at x = 1.
(b) Find slope and y-intercept of 3y = 2x + 4.
(¢c) Evaluate :
lim 2x* - 1.
x =1
dy
d) Ify =2%+ 1, u = x, find —.
dx
(e) If Z = x2 + y%, find Z,, Z,
(f)  Define Marginal Cost.

P.T.O.



&)

[5201]-1046

Define : Partial differentiation.

(h)  Solve :
x+y =1 x -y =1
(i) Find the derivative for the inverse function, j—g where
Q = 210 - 3P.
(;)) What is critical point ?
(k) Find the differential dy, for the function :
y=7x3—5x2+6x—3.
(/)  Obtain the derivative of a constant function.
(m) Define : Implicit function.
2. Attempt any fwo of the following : [10]
(a) Find the total derivative % for the function Z = 8x2 + 3y2
where x = 4¢, y = bt.
(b) Find the marginal cost of the total cost function :
c = 3x2 + Tx + 1.5xy + 6y + 2y2,
also determine the marginal cost of x, when x = 5, y = 3.
(¢c) Find the price elasticity of demand for the function at
P =3 and P = 5, where Q = 75 — 5P.
(d) Find the value of slope at x = 2 and x = 5 for the function

y=7x2+3.



3. Attempt any two of the following : [20]
(a) Draw the graph of the following curves :
2y = x — 1 and
y = 2x + 3.
Discuss the nature and slopes of these curves.
(b) Using product rule, find %, where :
y = 8 + 8 b + 11).

(¢c) Minimize the following cost function, where :

AC = 200 — 24Q + Q2.

d) If Z = (Tx + 3y)3, find Zy, Z,.
4. Attempt any fwo of the following : [30]

(a) Given the function :
Z=3x2+2y2—xy—4x—7y+12.

Find the extreme values and determine the whether the function
is at a maximum, minimum, inflection point or saddle point
also evaluate it at critical values.

(b) What combination of goods x and y should a firm produce
to minimize costs when the joint cost function is given as
C = 6x2 + 10y — xy + 30 and the firm has a production
quota of x + y = 34 ?

[5201]-1046 3



(¢c) Find the price elasticity of supply for the functions at
P =3 and P = 5, where Q = -2 + 0.8P.
(d) Differentiate :

(957 = 2) (7x +3)
S5x

y:

w.r.t. x, using product and quotient rules wherever necessary.

[5201]-1046 4



Total No. of Questions—4] [Total No. of Printed Pages—3

o [52011-1047
F.Y. B.A. EXAMINATION, 2017
FOUNDATION COURSE
(Restructuring)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each
(any four) : [20]

(@)
(i1)
(iii)
(iv)
()
(vi)

Explain the de-effects of National Integration lost.
Explain the types of Hypothesis.

Explain the effects of Gender disparity.

Explain the types of Democracy.

State the information about work of Bramho Samaj.

Explain the importance of Research.

2. Answer the following questions in 200 words each
(any two) : [20]

(@)
(i1)

State the measures for resistance National Integration.

State the information about Non-Brahmin movement.

P.T.O.



(iiz) State the causes of origin of Co-operative Movement in India.

(v) State the information about National Values.

3.  Write the answer of any one of the following in 400 words :[20]
(i) State the characteristics of Indian Population.
(it) Take a brief survey of Educational Movement in India.
4, Write short notes in 100 words each (any four) : [20]
() Linguistic variety
(b) National Integration
(¢c) Population explosion
(d) Importance of Religion
(e) Theosophical Society
(f/)  Women Empowerment concept.
(TS wUIaR)
9% : 9 q™ THUT TOT : 80

ol :— (i) Wd WA Giefau Sfevas .

1.

(ii) SSEleld 3 YU U SRiferdr.
(iii) TRYER oo TUST YTAUlAh TRTE.

Wefld 9=t 100 ved S fo@l (hed 9R) [20]
(i) U THTA Y UEed™ B R T .

(i) TEIdE™ YRR TR HA.
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(i) s faogas ofiomg s .

(jv) <IHIEE THR WL H.

(v) SRl GHST= SR \ifgdl S

(vi) HTINYAE Hecd W H.

2. @eid JEET 200 UK W faw (R gF) e [20]
() U UhHd fehfauamardl SS9
(i) SRR Fdiaual Hifgdl HA.

(iii) VAT Tgohll Fosdadi=al 3dM=l IOl I

(jv) USE Hoaered wfed! HE.

3. WlaUh! SR TWeRT U¥E 400 I=M[ SR forer . [20]
(i) YRdE ceged=n afyrse T

(ji) YRdrdia fITeT0r YOR= dosdost=l SRl <.

4., @EfduR! 100 =@ fow fag (v W) e [20]
(31) orofter  fafeeran
() TE TH
(%) whEE faepe
(e) wHHE wWe
(3) Tusiraifrea dEmEe

(%) Tt HecAhiol HohoUdl.
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Total No. of Questions—6] [Total No. of Printed Pages—6

Seat

F.Y. B.A. EXAMINATION, 2017
FUNCTIONAL ENGLISH
(Vocational Stream)
Paper 1

[An Introduction to English Language and
Writing SKkills in English (Theory)]

(2013 PATTERN)

. [5201]-1051

Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. (@) Write short notes on any two of the following : [6]
(i) Language as a system of systems
(it) Speech event
(iit) Vowels in English.
(b) Fill in the blanks (any five) : [5]
(i) There are ............... number of diphthongs in British RP.
(ii) The initial consonant sound in the word ‘psychology’
IS e .
(€279 RO are fricatives in British RP.

(iv) Diphthongs ending in /I/ are ..................... .

(v) The vowel sound in the word ‘heat’ is .................



(c)

2. (a)

(®)

[6201]-1051

(vi) 'The final consonant sound in the word ‘table’ is ............... .

(vii) In British RP, there are .................. number of voiced
consonants and ............... number of voiceless consonants.

State whether the following statements are true or false. (any

five) : [5]
(i) All consonants are voiceless sounds.

(it) Teeth are passive articulators.

(iii) /p/ and /t/ are voiceless consonants.

(iv) /1/ is a back vowel.

(v) Vocal cords do not vibrate in the articulation of voiceless
sounds.

(vi) A diphthong is a vowel glide within the same syllable.

(vii) There are five central vowels in British RP.

Use the correct tense forms of the verbs given in the brackets. [3]

The travellers (find) the cave very comfortable and cool. They
were a little (worry) about the tiger. one of the travellers
said to the others, “If the tiger (appear) they will fight with
full force.”

Fill in the blanks with appropriate prepositions given in the
brackets. [2]

[for; by; of; tol

The effect ............ corruption has many dimensions related ...............
political, economic, social and environmental effects. In political
sphere, corruption impedes democracy and the rule of law.
In a democratic system, public institutions and offices run ..........
wrong people may lose their legitimacy when they misuse their
power ............... private interest.

2



(¢) Change the voice (any two) : [2]
(i) I filled the examination form.
(ii) My friends are answering the difficult questions.
(iit) The accountant calculates the salary.

(d) Use articles (a/an/the) wherever necessary : [2]

My father is ................ MA. He had got ........... job in ..........
European country but due to poor economic condition, he could
not travel to Europe. ........... job demanded high quality academic

performance and language skills.

(e) Choose the correct alternative and rewrite the sentences.
(any five) [5]

(i) Some (children / childrens) were playing football.
(zi) She has decided to do research, (has she?/ hasn’t she?)

(iit) (My friend’s father / father of my friend) purchased a

flat in Pune.
(iv) One of my teachers (is / are) leaving for America.
(v) Sunil is my colleague’s (cousin/ cousin brother).
(vi) We prefer milk (to / than) tea these days.

(vii) He speaks fluent English / He is speaking fluent English.

3. (@) Write notes on any two of the following : [10]
(i) Tones in English
(ii) Word stress in compound words

(ii1) Weak forms in English.

[6201]-1051 3 P.T.O.



(b) Divide the following sentences into tone groups and mark accent
and intonation (any five) : [10]

(i) We reached the station late and missed the train.
(ii) Good morning. How are you?

(iit) Kalpana Chawla was an intelligent girl.

(iv) Have you completed the work ?

(v) Close the window.

(vi) If you come, we will go to a movie.

(vii) What a beautiful scene ?

4. Develop the following points into a good paragraph of about fifteen
sentences. [10]

Use and Abuse of Cell Phone
Introduction

Primary functions of mobile

Best source of getting knowledge
Tool for entertainment

Can be used for academic purpose
Good use of various functions

Misuse of mobile—more for entertainment less for knowledge

Conclusion.
Or
Write a short paragraph on the topic ‘Students and Social Responsibilities’.

5. Prepare a flow chart for the admission procedure of admission to
FYBA Class. [10]

[6201]-1051 4



6. Read the following entries from the Oxford Advanced Learner’s Dictionary

and answer the questions given below it (any five) : [10]

circum-lo-cu-tion /sakemlo'kju:fn; AmE sairk-/
noun [U, C] (formal) using more words than are neces-
sary, instead of speaking or writing in a clear, direct way
» cir-cum-lo-cu-tory  /;s3a:kom'lokjuteri; ,s3:kemle-
’kjw:tari; AmE s3:rkam'lazkjato:ri/ adj.

cir-cum-navi-gate /;sa:kam'navigert; AmE ;s3:rk-/ verb
[vN] (formal) to sail all the way around sth, especially all
the way around the world M cir-cum-navi-ga-tion
/isa:kemnaevr'geifn; AmE \s3:rk-/ noun [U]: the circum-
navigation of the globe

cir-cum-scribe /'sazkamskraib; AmE 'sairk-/ verb [VN]
1 [often passive] (formal) to limit sb/sth’s freedom,
rights, power, etc: The power of the monarchy was circum-
scribed by the new law. 2 (technical) to draw a circle
around another shape P cir-cum-scrip-tion /,sa: kam-
'skripfn; AmE s3:xk-/ noun (U]

cir-cum-spect /'sa:kamspekt; AmE 'sa:rk-/ adj. (formai)
thinking very carefully about sth before doing it, because
there may be risks involved CAUTIOUS P cir-cum-
spec-tion /,s3:kam'spekfn; AmE s3:xk-/ noun [U] cir-
cum-spect-ly adv. :

cir-cum-stance /'sa:kamstans; -sta:mns; -stens; AmE
'sa:rkomstzens/ noun 1 [C, usually pl.] the conditions and
facts that are connected with and affect a situation, an
event or an action: The company reserves the right to
cancel this agreement in certain circumstances. ¢ changing
social and political circumstances ¢ I know I can trust her
in any circumstance. ¢ Police said there were no suspi-
cious circumstances surrounding the boy’s death. ¢ The
ship sank in mysterious circumstances. ¢ She never dis-
covered the true circumstances of her birth. 2(circum-
stances) [pl.] the conditions of a person’s life, especially
the money they have: Grants are awarded according to
your financial circumstances. ¢ family/domestic/personal
circumstances 3 (U] (formal) situations and events that
affect and influence your lifer and that are not in your
control: a victim of circumstance (= a person who has
suffered because of a situation that they cannot control) ¢
He had to leave the country through force of circum-
stance (= events or the situdtion made it necessary). [EI]
in/under the 'circumstances used before or after a
statement to show that you have thought about the condi-
tions that affect a situation before making a decision or a
statement: Under the circumstances, it seemed better not to
tell him about the accident. o She did the job very well in
the circumstances. in/under no circumstances used to
emphasize that sth should never happen or be allowed:
Under no circumstances should you lend Paul any money. ¢
Don’t open the door, in any circumstances.—more at POMP,
REDUCE

[6201]-1051 5 P.T.O.



Questions

(@)
(11)

(ii1)

(iv)
(v)

(vi)

[6201]-1051

Give two uses of ‘circumstance’.

Transcribe the word ‘circumscribe’ phonemically according to

British English.

Transcribe the word ‘circumspect’ phonemically according to

American English.
Use the word ‘circumstance’ in your own sentence.

How many syllables are there in the words ‘circumnavigate’

and ‘circumscribe’ ?

Which syllables have primary stress in the word ‘circumlocution’ ?



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
No. [5201]-1052
F.Y. B.A. EXAMINATION, 2017
TRAVEL AND TOURISM MANAGEMENT
(Vocational Stream)
Paper I
(Fundamentals of Tourism)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.
(itzi) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

Explain any fwo in brief (around 50 words) : [10]
(i)  Excursionists

(i1) Tourism

(zii) Cultural tourism

(7v) Mass tourism.

Write short notes on any four (around 100 words) : [20]
(i) Explain cost benefit
(ii) Pleasure travel

(ii1) Elements of tourism

P.T.O.



(iv) Social importance of tourism
(v) Components of tourism

(vi) National integration.

3. Answer in any three (200-250 words) : [30]
(i) Negative impacts of tourism on environment.
(ii) Growth of tourism through ages
(itzi) Explain the elements of tourism
(iv) Explain the terms :
(a) Visitor
(b) Tourists.

(v)  Multinational regulations.
4. Answer in detail any one (around 500 words) : [20]

(i) Growth of tourism : post independence.

(zz) What are the fundamentals of tourism ?

[6201]-1052 2
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Seat

Y. [5201]-1053

F.Y. B.A. EXAMINATION, 2017
FUNCTIONAL HINDI : VOCATIONAL
(‘Jﬁm UG C 1R )
Yy 1

ViRt W=t o Ml

(2013 PATTERN)
g A "e HA Ik : 80
el :— (i) |t v sftEE g
(ii) wfet R ferd Tw sw weA & Ui ¥
(i) Tawm ‘s7’ iR fawm ‘&’ & SW TH & SW-Yraw § fafem)
faam ‘et
1. (%) freAfafea st v § 9 f5 e & foau &S o) modh miftenfoes
g fafEw [5]
(1) Debit
(2) Approval
(3) Warning
(4) Conference
(5) Report
(6) Agenda
(7)  Discount.
(e frafafe & vl § ¥ fodl ure & foau st o #7udt wftfoe
g fafEw [5]
(1) <hem
(2) T«

P.T.O.



(3) 3o

4) B
(5) <©=
(6) ¥
(7)  wE
2. fmafafen & 4 fodl @ W fewfrt fafew . [10]
(%) 3Tg=" 120
(@) ez
() TIHk A

3. ‘virges &l devEd’ ST w1 Hed 9IReku W HifSw | [12]
reran
TR megdt &t fedt w1 faamm wifs

faumr ‘=’
4. fTfafes & 4 f&= @@ & W fafeg [15]
(7) AFew fedt aviHen fafew |
(F) AEEA-TF &I IHR SH&RI ST
(®) I fog ofq eEET &1 WAM wd T s ¥ O?
(¥) &g & favvand fave wifsw)
(7)) Bfeedi & fafay gewr fafew)

5. (9) frafafea mww & & & srae wifSw [7]
Th MRS Tk hiehd i Hid Bl o G0 hReT YIS
LG B | B e s e A e L B D o
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AL AT AN ANGAER WMl W SAfavd EE el AT
el wE U e 9 FE A TS e d8Hy g 49T Hhivad
g, A HREA AT HICThlEl AgHe GHH o9 SR SS9 .
() eUs U€ & fau smEeH-ud fafeu [8]

6. ffafea & & &=kl 9= W fowfel fafew [18]
(?) dfdgees ‘A’ &R ‘T w1 WM
(¥) 9RAE Afhei w1 AT w9
(A7) TEEE & GERE TEEN
(F) SAEGA-US 1 THHN
V) AIER &1 W&

[5201]-1053 3
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